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INSTRUCTIONS TO THE CANDIDATE
(Read the Instructions carefully before Answering)
Separate Optical Mark Reader (OMR) Answer Sheet is supplied to you along with Question Paper

Booklet. Please read and follow the instructions on the OME Answer Sheet f-:u' marking the responses
and the required data.

. The candidate should ensure that the booklet code printed on OMR sheet and question paper booklet

code supplmd are same.

y on estion Paper Booklet by tearing off the paper seal please check for
(:] The sa.mc )}on each page, (u} Serial Number of the questions (1-200), (iii) The
number of pages and (iv) Cmmt P“"';’;ﬁ,h case of any defect, please report to the invigilator and ask
for replacement of booklet with same within five minutes from the commencement of the test.
Electronic gadgets like Cell Phone, Calculater, Watches and Mathematical/l.og Tables are not permitted
into the examination hall.
Darken the appropriate circles of 1, 2, 3, or 4 in the OMR sheet ¢ ng to correct or the most
appropriate answer to the concerned question number in the shutm%f more than one circle
against any question automatically gets invalidated,
Rough work should be done only in the space provided in the Question Paper Booklet.
Return the convener copy of Dlu[& Answu' Sheet to the invigilator before leaving the examination hall.
Failure to return is liable for criminal action.
The duplicate OMR sheet and Question Paper Booklet shall be taken away by the candidate and should
be preserved till the declaration of results.
The Question paper booklet is printed in two languages viz. English/ Telugu or English / Urdu. In case of
any doubt or ambiguity in any question, then the English version is considered to be the correct version.
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Time : 3 Hours : Marks : 200

Instructions :

(i) ~ Each question carries one mark.
|08 (D) 50 ¥ Sy,

(ii)  Choose the cofrect or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer sheet,
separately supplied to you.

BIHS BN 1HB DD BSAS TES" 0TS AIHrerISHSH ISEFD DD
Jrood @ok 1, 2, 3 B8 4 3% ad)d OMR JISrerd dgand’ (24 Sopik
DD Hed DODOOE TS 27/2rE 2l ronodd DAL GHIriod QoDHBA.

1.  Choose the incorrectly spelt word from the following set of words :
(1} acquaintance (2) maneouvre
(3) erroncously ] (4) demurrage

2. In the following question, four words are given, of which two words are nearly the same or
opposite in meaning. Find the two words that are similar or opposite in meaning and indicate the
number of the correct letter combination provided in the options.

A. Possessive B. Dreadful

C.  Secretive D. Repugnant

(1) B-C (2) B-D (3) AB (4) A-C

3.  Choose the correct rearrangement of the following jumbled. sentences to make it a meaningful

paragraph. : : :

A. Music is perhaps the most popular of all the arts and we find that classical Indian music
continues its traditions.

B. Both have deep traditions and changes only happen gradually.

C. For example, conceris are usually by a vocalist or by a solo musician playing an
instrument, with 8 minimum of percussionists. _

D.  Indian culture is rich in the arts - literature, music, dance, theatre, fine arts and, in modern
India, cinema and television as well. : _

E.  The two main types of music in India are the North Indian Hindustani and the South Indian
Karnatic music. '

(1) EDBAC (2) DEACB (3) DAEBC (4) ABECD

4.  Match the words in column ‘A’ with their meanings in column ‘B’. Choose the right answer from

the options given below : "
Column ‘A’ Column ‘B’

(i) Sanguinary a Careful

(ii) Punctilious b. Inpeccable

(iii) Dogmatic ¢. Murderous

(iv) Reprehensible d. Pontifical

' ¢. Verybad
) @@ @y av)

(1) ¢ d a c

(2) c a d e

(3) b d a c

@ e a- b d
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5.  Pick out the most effective pair of words from the given options to make the sentence

meaningfully complete.

The Prison guards degraded themselves with their and treatment of the prisoners.
(1) differential/regal (2) cavern/fantabulous

(3) surreptitious/overt ' (4) inhumane/ignominious

6.  Maich the following definitions with their one-word substitutes.

A. A place in a large institution for the care of those who are ill i. Cartographer
B. A line of descent traced continuously from an ancestor -ii.  Infirmary

C. The art of effective or persuasive speaking or writing u. Genealogy
D. A person who draws or pmdt;:es maps iv. Rhetoric

: A B C D
(1) ii i iv i
(2) iii ii iv i
(3) iii ii i iv

(4) 1 ii i iv

7. Choose the right matching of the synonyms to the four words given below :
(i)  Arbiter (A) Unconcerned
(iil) Blithe {B) ‘Thrash
(iii) Flail (C) Controller
(iv) Zeal (D) . Fervour
(i) () () (iv)
(1) (A) B) D (©
(2) (B) (A) (D) (©)
(3) (C) (A) (D) (B)
4) (C) A) @ (D)

8. In the following quesl:inn; four words are given, of which two words are néarly the same or
opposite in meaning. Find the two words that are similar or opposite in meaning and indicate the
number of the correct letter combination provided in the options.

A.  Shambles _ B. Flexible
C.  Periodic D. Organised
(1) A-B (2) A-D

(3) B-C (4) B-D

P11 , 4B
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9.

10.

11.

In the following question, the first and the last sentences of the passage are in order and
numbered S, and S;. The rest of the passage is split into four parts and named P, Q, R and S.

These four parts are not given in their proper order, as they should appear in the paragraph.

Read the passage and find out which of the four combinations correctly forms the sequence of
sentences in the passage :

S;: One key prevention is making personnel throughout the organisation aware of the fraud

risk management program, including the types of fraud and misconduct they may occur.

P : With this in mind, prevention and deterrence are interrelated concepts.

Q : This awareness should enforce the notion that all of the techniques established in the
programme are real and will be enforced.

R : The ongoing communication efforts could provide information on the potential

* disciplinary, criminal and civil actions that the organization could take against the

individual.

8 :  If effective preventive controls are in place, working and well-known to potential fraud
perpetrators, they serve as strong deterrents to those who might otherwise be tempted to
commit fraud.

S, : Fear of getting caught is always a strong deterrent. Effective preventive controls are,
therefore, strong deterrence controls.

(1) PRQS (2) QRPS
(3) QRSP (4) RSPQ

Answer the question after reading the following passage :

The traditional approach to parenthood is completely unsatisfactory. Women have to spend many
hours in child-rearing. Those with professional skills may sacrifice their career in all respects for
the benefit of only one child. Because women spend time caring for their children, the services of
many expensively trained teachers, nurses, doctors and other professionals are altogether lost to
society. Even if child-rearing is shared by the father, it simply means that two people waste time
on an unproductive task for which they may be entirely ill-equipped. Society would be much
better served if parenthood was made the responsibility of well-trained professional parents who
would look after groups of children as a paid occupation. This would end amateur childrearing
and allow the biological parents to fully develop their careers for the benefit of society. Critics
may argue that children reared in this would feel rejected, at least to some extent, by their natural
parents. This is quite untrue. Evidence from societies where collective childrearing is practiced

- shows that children merely experience minor upsets and are hardly affected by the separation.

What is the function of expressions like ‘completely, in all respects, altogether, simply, entirely,
much, at least to some extent, quite, merely and hardly’ in the passage ?

(1) . To maximize the points against their opinion

(2) To persuade the reader by well-structured argument

(3) To mislead the reader so that she/he keeps on worrying about the gist
(4) To minimize the points in favour of their opinion

For the guestion below, determine the relationship between the pair in the question and then
select, from the options the pair having a similar relationship to the first pair.

Mendicant : Impecunious ::

(1) Complainer : Petulant (2) Hat: Askew

(3) Philanthropist : Prodigal ' (4) Critic : Vagabond

P11
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12. In the following question, four pairs of words are given. Find the word pair which have
dissimilar meaning from the options given below :

(1) retrospective/prospective (2) entice/lure
(3)  abhor/detest (4) introspection/brooding

13. Choose the right alternative to make it a meaningful sentence.

Though she is by nature but she does not like that any stranger should on her privacy.
(1) lugubrious, lonely (2) garrulous, meddle
(3) salubrious, interfere . (4) gregarious, intrude

14. Fill in the blanks with appropriate words by chomingtlwsuitablamufumwmfmmthenpnm

given below the paragraph.
The disqualification as a (i) of defection does not apply. If the original party of a member
(ii) with another party and he either changes his political party as a consequence of the

merger. A merger is (iii) to take place only if not less than two-third of the (iv) ____ of the
Legislative party (v) to such merger. :

(1) (i) consequence (ii) merges (iii) deemed (iv) members (v) agree

(2) (i) consequence  (ii) agree (iii) deemned (iv) members (v) merges

(3) (i) consequence (ii) deemed (iii) members (iv) merges (v) agree

(4) (i) consequence  (ii) agree (iii) merged . (iv) deemed  (v) members

15. Which of the following is an ungrammatical sentence 7
(1) Have they not been practising yoga since their childhood ?
(2) mmmmmgmmunﬂyfwammmhab:MMmHmmadthﬂ
project to the company.
(3) Hasn't he repaired the vehicle yet 7
(4) IfIwere you, I wouldn't write this examination.

16, Determine which of these words fits well in all, or the maximum number of sentences.
(i) Thebill _____ reduction in electoral expenses.
(i) Theplan_____ten percent growth in production.
(iii) The budget for the current year more or less double turn-over than that of last year.
(iv) The company a good production due to better prospects of sugarcane production.
(1) seeks (2) rated (3) increased: - (4) envisages

17. Choose the word from the following list of words, which is correctly spelt.
(1) Facetions 2) Obviete
(3) Paraphemnelia (4) Parcimonious

P11 | 6-B
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18. In the following question, a sentence is given in which one word is printed in bold type. Your

task is to select the word or expression from the alternatives which convey same meaning as the

word printed in bold.

His acquirtal by the jury surprised those who had thought him guilty.

(1) exoneration (2) conviction
(3) arraignment {(4) denunciation
19. Read the following job advertisements and answer the questions that follow :
- - SAP Graphic
Teaching Position Available Receptionist Desi Required
Gandhi Internatiopal School, | Sairam Airconditions Company | A position is available
one of the top performing | seeks full-time front desk | for a part time graphic
schools is looking to recruit | receptionist. You must be : designer to join Hall
passionate  and  competent | . o et in  communication | MATK  International.
teachers. You must be proficient skills You must be expert in
in English. : : ] using various computer
25 hours per week - competent in basic computer programmes.
(flexible times) - i, ¥ 35,000 per year
¥ 40 per hour - polite and approachable !
Flus bonuses Smﬁnﬁﬂmy : T 28,000
‘Which job offers flexible time 7 . : _
(1) Receptionist (2) Graphic designer
(3)  All the jobs (4) Teacher
20. Choose the right sequence of words to fill in the blanks marked (A) —(F) in the following
sentences to make it a meaningful paragraph.
How quickly things change in the technology _ (A) .! A decade ago, IBM was the awesome
and __(B) _King of the computer trade, universally _(C) and respected. A decade ago, two
lile _ (D) called Intel and Microsoft were mere blips on the radar screen of the industry, _(E)
start-ups that had designed to make the chips and software for IBM's new line of personal
computers. Though their products soon became industry standards, the two companies
remained _(F) children of the market leader, |
(1)  (A) - upstart, (B) - feared, (C) — companies, (D) - business, (E) — upstarts,
(F) - undisputed. . .
(2) (A) - business, (B) — undisputed, (C) —= companies, (D) — upstart, (E) - companies,
(F) = protected,
(3) (A) - business, (B) - undisputed, (C) - feared, (D) - companies, (E) = upstart,
(F) - protected.
(4) (A) - companies, (B) - protected, (C) - business, (D) - feared, (E) — undisputed,
(F) - upstart,
P11 E 7-B
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Three persons A, B and C have started a business with a total investment of T 5 lakhs. In this A
invested T 40,000 more than B, while B’s investment is ¥ 50,000 more than that of C. If the share
of B in the year-end profit is ¥ 25,500, then the share (in rupees) of A in the profit is

Swfpth Sfen A, B, C ev Jwdo & § oo PAE Tprso Tréodoor.
ROHS" A ©F S8 B S0%.45 40,000 J5035 DEPDA DY B DEPA C Dép2A Lot
& 50,000 DB, DoSS oros ergfods’ B arer & 25,500 mond, eocheS A ey
(Grarand’)

(1) 21,000 (2) 31,500 (3) 35,500 (4) 18,000

A manufacturer undertakes to supply 2000 pieces of a particular component at the rate of T 25 per
piece. According to his estimate, even if 5% of the supply fail to pass the quality test, then he will
make a profit of 25%. However, as it turned out, 50% of the supplied components were rejected.
The loss to the manufacturer is

28 B 2.8 (HFLELS DALY 2,.8,0¢38 T 25 173550 2000 &0 HEHO* FAHaDS

LpTRD. ®6d wodyr H5do JI6Ho TS S s% Toge HOES' [

oS8 wSI8 25% rHROG. R HEHT wanS DA S 0% BSOSH
MBI, B35y A BB §QS SHo-

(1) T 14,000 (2) T 13,000 (3) 12,000 (4) 15,000

hcertainsumPamuuntsm!Eﬂ,minmuyammdmfﬂ,?m in three years on compound
interest. Then the sum P is (in rupees)
Foeb s} P Boch D088 yorerd SESGS SO & 29,400 S805n Surd Hodéyoves

SESHS' OB & 33,300 ©000E. Sinych & Faw; P (Grarahed
() 21,600 (2) 25,600 (3) 22,600 (4) 20,000

A and B are at points P and Q respectively. The destinations of A and B are Q and P respectively,
Both of them started at the same time in the opposite directions on the same route. After some
time they met each other at the point R. A and B take respectively 4 hours and 9 hours to reach
their destination from R. If the speed of A is 48 kmph then the speed of B (in kmph) is

A DAAI B e SHAM Docheden P 8y Q o S5 eyt A JSHochy B ¢ &wos
fiadrsen SGOSr Q HOC P 0GPt 28 JHoirdd 2.8 drdod’ SiH8s L'J-‘lé
20henBorth. Foh HDHATRE ¢ Docid R 56 Seniodomry . R od A, B &0 36
ez HEDE JHOM 4 Hodiew, 9 Hoded JSdaho Sy, A JMo Kok
48 ﬂ.ih. o B 360 (fotrds 8.5, eedh)

(1) 39 (2) 32 © (3) 46 4 72

Shekhar started a business investing T 25,000 in the year 1999. After one year in 2000, he
invested an additional amount of € 10,000 and Rajeev joined him with an amount of T 35,000.
After another year in 2001, Shekhar again invested another additional amount of 2 10,000 and
Jatin joined them with an amount of ¥ 35,000. Rajeev’s share in the profit of T 1,50,000 earned at
the end of 3 years from the start of the business in 1999 is

D03 )50 1999 &' T 25,000 EPAS B .8 FEITR), (D CODOT®. 2.8 HoSS 150
SO 58 2000 HOSSIB0S &S GBSO T 10,000 DEPAT DD, S8k ¢ 35,000
2EP2HE’ TdS ©ddE DN, H8 Holsylo Sorge 2001 Ipd HP edsor
T 10,000 2éPodmr WD HOCID S 35,000 DEPDAS’ 288 0SS TOS DD,
1999 &' TrgErdo rEoDONRHIB Lod Hrd HoSSIo® DI85 FodS Iwdo
er2so T 1,50,000 &' odS ey ,

(1) €35000 (2) ¥ 40,000 (3) 50,000 (4) T25,000

P11
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26. The average salary of all the workers in a factory is ¥ 15,000. The average salary of 12
technicians is T 18,000 and the average salary of the rest is ¥ 12,000. Then, the total number of
workers in the factory is
2.8 r58S" ot HATE Hifew ASI0 S 15,000, oS’ 12 Hod B)hdhde
Hittn Aein G 18,000, HOCH T DAY DSt Hddn Er 12,000, eyt &

565" &) Dwdo HATW,
1 22 @ 24
(3) 28 (4) 20

27. The ratio of number of employees in the technical section and the management section of a
company is 7 : 2. The average salaries of employees in the technical section and the management
section are ¥ 25,000 and ¥ 47,500 respectively. The average salary of employees of these two
sections together is (in rupees) -

2.8 HoHS'D FroddE Derli e Jopg, ASsrn Darl adibe HSogpg Ty JH)E
7: 2. 0BBE Doyt afghe Htw Ado HOAD dorsirn Ja aSshe Sty Ao,
SHDT & 25,000 HOGKD EF 47,500. & Doch Drred’Dd adhe EOD Hitn #do

(Grarcbes)
(1) 37,500 (2) 35,000

(3) 30,000 : (4) 40,000

28. Three persons A, B and C respectively take 30 seconds, 45 seconds and 60 seconds to make one
round around a track. All of them start at the same point P on the track. Thén match number of
rounds made by the persons in the List-I as given in List-II when they meet again at P.

2.8 [)Eed ertyn 2.8 thép S6HErd8 A, B, C ©F HiSen S0 30 DESR, 45 DEQ,
60 DERD SDH0LrH. © e 2.5 Doth P 36 Jdoddr Hdfdeno |@rscod,
Soder ol Dotod 38 D1 &'D Sifen TS Sbw arDer1l & woryo. HAD 2
Tobod.

List—I/arfwr -1 List-II/2der -0
@ A @ 6
(i) B (b) 3
(i) C (c) 4
| @ 2
The correct magch is : / SO RAFET00 :
@ G
(1) (a) (d (b
@ (@ € @M
3 @ (d)
@ (a) © @

P11 [s] 9.8
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29. A sum of T 2,600 is divided amongst P, Q, R, S such that
P's share Q'sshare R’ ssharl: 2
Q's share ~ R's share ~ S's share = 3

Then P’s share is _

72,600 0 P, Q, R, § & g ¢ DGO HoDb :

P e Da'e.r R.:I'E.r 2

QTer"Raotr - Sotr 3

®aycho P SIS}, arér

(1) 300 (2) 320 (3) T340 (4) T280

30. Ramu ecamns in July thrice as much as in each of the other months. The ratio of his earnings in
July to the annual earnings is :
oriwnd 2@ 38 soraho e 1Ha Fod ST acrairds Srdb) God, 9dE
2B AT ) acrabo, Hodé B0 DS ecraboe DR)8
(1) 3:13 2) 3:14 (3) 3:11 (4 3:12

31. From atown, 10% of population is migrating for various reasons every year. If the population at
the end of three years will be from now 96228, then the present population of the town (in lakhs)
is
T SHTOIY 8 HWoS (N8 HoSS)BSn 10% oS I00 IVTLH. [0
0B Sarched moéé,atméoé' © DY BTY 96228 BGOLNOD. Lo |HWS Hipe

s @59
(1) 122 (2) 126 (3 132 4) LI2
32. Match the following questions in List — I with the corresponding answers in List—IT :
List -1 List-1I 4
(i) What percentof 50is 2 7 (A) 4%
(i) What percent of is 3 ? (B)  1200%
(iii) What percentof 7is 84 7 (C) 2%

(iv) 'What percent of 6.5 litres is 130 ml ? (D) 150%
ader -1 S0 (HF 0 23DE — 11 &' HOHH ISFT IS 2éHHDSW.

aDer -1 aDer -1
) 2036508 Jodrso? (A) 4%
(ii) %é‘acé réu-é a0 7 B) 1200% ‘9
(iii) 7S Do TS0 84 ®HEOD 7 C 2%

(V) 6.5 Do JosTso 130 n.d. ©0ySod? (D) 150% <
(i (i) Gi)  3dv) £

(1) (D) (A) (B) (C) v

@ (A D B (©

3) (A (© (D) (B)

4) (A) D) (€ (B)

P11 8] 10-B
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33, A clock was started at 12.00 noon. When the time is 4.30 p.m, the hour hand has turned through
the degrees _
28 nAdirdod HorErio 1200 fobed (Drdodocrd. SHdbasn Ardboldo
4,30 8005 I, Hodde Snew SonS S|fen
(1 110° 2y 1200 (3) 135° (4) 95°

34. Which of the following is in ascending order ?

1508 S uffvre |EhoS a8 A ?
1321 2113 1213 .0 2181
D 3772 @ 7352% @ 5773 @ 7373

35. In ajoint business A, B and C invested capitals in the ratio 5 : 6 : 8. If the ratio of the shares in
their profit is 4 : 3 : 12, then the ratio of their periods of investments is :
2.8 508 Jrsos’ A, B, T en 5: 6: 8 58S Dépathen DEFdh, erdiod ad
Tere DAHE 4:3: 12 wond 0 P DS serey DR S
() 5:3:12 (2) 8:5:15 (3) 25:18:16 4 2:1:3

36. A person left a city P to city Q in a car at 8.00 a.m. He travelled at a speed of 90 km/hr for
3 hours. Aﬂerthatth:ipeedwasmdunedmﬂﬂ'hﬂ'hr. If the distance between the cities is
510 kms., at what time did he reach city Q 7
sHS' 28 358 HPwsn P Hod Hhedn Q & adcho 8.00 forwd HoHenlSdrdy,
Ko®%o 90 8.8, WESnE' 3 fotren (DATBomrt. Shard IS 80 8.5./40. & SHod
Hairdomrd. Todh H&sne M Grdssn 510 £, sond HPhodn Q & s

T8 Mot . o
b

(1) 1.00 p.m. (2) 1.30p.m.

(3) 2.00p.m. | 4) 1230pm.

3. Thcavmg:wmghtufﬁ,ﬂ&ﬂdﬂﬂﬁkg If the person D joins them then the average of
wnghmofmnufnmmmshamm?ﬂkg The average weight of B, C and D is 75 kg. Then
the weight of A is (in kgs)

A, B 50050 C Eng) SHen 20 65 &m D oFf 558 To8' $0h e Senthd difen
22803 70 A4 ©3&0A. B, C S8k D © e 208063 75 81 &5pdd A 308 e

Eurodyy .
(1) 60 @ 65 (3) 70 ) 55

38. ﬁmmubmvﬁsth:mi:ﬁfapolcofhﬁ;htlj.mﬂdthclevﬂﬂnnanglew.mm‘ghtufﬂwman
is 1 m. The distance between the man and the pole in meters is

2,500 15 . déiie Do k) e|izrm) 30° &l Food' Sriary . edd Jd)
1 20, @488, Hoarad Sdds e Srdsn oerdes

M 143 ® 3 ® @ 153
P11 [s] 11-B
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39.

41.

42,

In the decimal expansion of ﬁ the digit in the 7000™ decimal place is

=005 T8y B770F DYSES' 7000 S B0F FSoS' e oS

£1) 2 2 4
@) 1 4) 7

A closest approximation to the product 0.3333 x 0.25 x 0.4999 x 0.125 x 24 from the following
is

& 800 QS 0.3333 x 0.25 x 0.4999 x 0,125 X 24 &P 28 &j0s HHD Ao
e '

(1)

o =

3
@ 3 @ 3 @

=

1 1 1 1 1
N N A O Y - Y - Y
(1) @) 1
(3) 4) 0

L =

The least number which when divided by 20, 25, 35 and 40 leaves remainders 14, 19, 29 and 34
respectively is

20, 25, 35 OGN 40 ©TF arAotT SHr 14, 19, 29 S8cin 34 Fdrenm Heo edjod
IR A0S . :

(1) 1394 (2) 1594

(3) 18%4 4) 1094

If T 2420 are divided among A, B,Csothat A:B=5:4,B:C=9: 10, then C gets
22420 DA, B.COS0A:B=5:4,B:C=9:10 odhtor H00& edypdh C 0B

(1) 2800 (2) T840
(3)  T900 (4) T720

Among 1100 boys and 700 girls who have appeared for an examination, 42% of the boys and

- 30% of the girls passed the examination. The failed percentage of the total is

LE HOLE F=BI 1100 2rent, 700 rdiod 42% erend, 30% rdien @adDO.
®% Fneod D) Aorihe Tédo

M 625% @ 625%

(3) 63% ' 4) 6 l%%

The number of primes between 10 and 50 that remain primes when their digits are reversed is

10 S8ckn S0 © JSghe howored, o880 oo FTed 855 )e8
IDEFToSeTh N &) o3 Doy .

(1 4 (2) 5

3 6 4 3

Pll
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List - IT
| Conifers
II. Lichens

1. Algae
v .

Do -1I
L Sa%ben
1. BISen
I 3deren
IV. 3Do|ren

List-11
Farad ’
Coulomb
Newton/coulomb
Valt

wder -1
el
Soexrozn
rom e/ ooz

Y

Addal247)
46. Maich the following :
List=1
A. Litmus (Dye)
B. Agar-agar (Jelly)
C. LSD (Narcotics)
D.  Turpentine (Solvent)
& 808 OD 2SDHSTHSW,
Do -1
A DR (ddozso)
B. =&)68 @D
C. LSD (S |5550)
D. &80T (orsel)
Correct match is : / HOTHS 2K ¢
A B C D
(1) I v 1| 1
2y IV | 11 I
(3) 1 Iv. I I
4) I 111 v I
47. Maich the following :
List = I
a.  FElectic charge
b.  Electric field :
c.  Electric potential iii.
d.  Electric capacity - v,
& |800 8D BEDHSH0N,
a2aDer -1
B &S e8dsn i.-
b. Dcogd (&S0 ii.
e DS FOHYPAHS i
d. oS Sradd iv.
The correct match is : / HOTS &G :
a b C d
(N i iii iv i
(2) iii ii i iv
(3) v i iii i
(4) 1 b iii

v

GET IT ON
Google Play
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Which statement is correct with reference to the role of UV radiation in water purification ?
(1) It removes small particles.

(2) It killsfinactivates micro-organisms.

(3) It removes harmful chemicals.

(4) Itadds taste to the water.

DA HZiHGHerS' UV S8eresh H020H00S SOTAS o impsd HSowhdn,

(1) DB $08 Hr; BmIODH FONOH®. |

(2) Ard 2o Soier /RS0 Taine.

(3) FAEGDS SArabharud Sofiodhe.

4) D38 oD HOD SOOI AW,

49. Match the following :
List- I List - I

A. Lipids _ i,  Orange

B. Carbohydrates ii. Sunflower

C. Proteins iii,. Soya

D. Vitamins iv. Ragi

& |1 80h TR BEAIHON0A.

ader -1 aDe -1

A OB i. &8ox=

B. o@iridey ii. SPpaidd

C. (&éSen iil,  QFcse

D. D&odSen iv. of

Correct match is : / SOTes A

A B c D

1y i iv iii i

(2) i iv ii i

(3) iii ii i iv

@ i v i jii
50. Which of the following represents homogenous scientific group of animals ?

(1)  Bat, Pigeon, Duck, Hen (2) Crab, Fish, Prawn, Whale

(3) Hen, Duck, Goat, Sheep (4) Man, Orangutan, Gibbon, Monkey

1208 TS DO B0HO HerAaH TLHAD DIV ATDROA ?

(1)  #D)e0, ;HSL, 2rey, FADY  (2) D, ID, Fahy, Boiieo

(3) A, eréd, DL D (4) ArSH, LEoRErS, 22)S, £
P11 [s] 14-B
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51— Read the fellowing statements and choose the correct combination :

A.  Typhoid is caused by bacteria B. Common cold is caused by virus
C.  Malaria is caused by bacteria D. AIDS is caused by a virus

(1) C & D are correct but A is wrong. (2) B & D are correct but A is wrong.
(3) B & C are correct but D is wrong. (4) A & B are correct but C is wrong.
& 500 |IDSDTred & idhdo Th DTS E0D Hlotod.

A Darond 2r§oci Sod Sod. -

B. &rgrdo zenan 380 368 I008.

C. SHT8csr 2rf8cir S8 Soa.

D.  AIDS 2.5 350 SO 0d.

(1) C,DOOTrdd 570 A DOT0SE s,

(2) B,D QOS] 50 A DOTDSE 5.

(3) B,CROTII R D 0TS s,

(4)  A,B I8P 30 C HATDSS 5.

52. The practice of growing different types of crops in the same field in sequential seasons is called
- as "Crop rotation’. One of the following aspect is NOT correct with crop rotation.
(1) Reduce the disease incidence caused by pests.
(2) Control of weeds.
(3) Increased crop productivity.
(4) Depletion of soil fertility.
28 S90S’ Bth Th S50 HoLwD LETR $om38 288 ES5rHrE0 HoAoSER)
V0§ Ar8IA ©0oerd. 8§00 TS’ &5 ®0H0 DD P8BS SNAHG O,
(1) D& e 30 3T Irgcoen diheay,
(2) Send JnnEye DS,
(3) oorcbo efidddo.
4) To rdsoehes i,
53. Ecological pyramid shows the number, energy or biomass at each trophic level. Generally
ecological pyramids are upright. However, one of the following pyramid is ‘inverted’. Identify.
(1) Pyramid of biomass of forest ecosystem.
(2) Pyramid of number of tree ecosystem.
.(3)  Pyramid of energy of sea ecosystem.
(4) Pyramid of energy of grassland ecosystem.
58 &FAE Praw (ophic level) SR APo Sopg I8 TBE BI09D elVe HDELS
ArdYow. Frdsor esdn DEGen DErdr (upright) Horow. SR & 2od
2EDBoS" .58 Seochen (inverted) I FOLNOA. TOD HAOLOA.
(1) ob2feIS0 I5S9950 H0VOHODS AS0T DO :
(2) TP 556 S5950 JHOLOSODS DOPS SIS,
(3) DS 8356 SS9 No20A0DS 8 HEE.
(4)  DHDHE 20D eSS S5OPE H0OHODS 8 HES.
54. Which of the combinations represent human blood ?
(1) RBC, Lymphocytes, Astrocytes, Osteocytes
(2) RBC, Lymphocytes, Chondrocytes, Astrocytes
(3) RBC, Lymphocytes, Eosinophils, Chondrocytes
(4) RBC, Lymphocytes, Eosinophils, Basophils
Ardeyer 8T8 Ho20HoDS H¥S0 B ?
(1) RBC, Dog¥pdien, & §fden, epiirden
(2) RBC, Dogrpden, gro|G ey, oS pdSen
(3) RBC, QogFpdien, aRdShHden, grol@ndSen
(4) RBC, OogFpdien, 203 Dfen, 2rdFhden
P11
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55. Read the following statements :
(a) Sudden and heritable changes in plants or animals are called as ‘mutations’.
(b) Amla fruit is rich source of Vitamin 'C’,
(c) Alexander Fleming discovered Penicillin (antibiotic).
The correct option is :
(1) (a) and (c) are correct but (b) is wrong.
(2) (b) and (c) are correct but (a) is wrong.
(3) Al (a), (b), (c) are correct.
(4) (a)is correct but (b) and (c) are wrong.
€ |808 |IDSSOH ediahdo dabod.
(a) JwHiod BF soMPHod’ wEIEor DO BHIGS0 Tosidd Srthyed
‘el 10 STren’ eodrd,
(b) &DO Deren wdE HOSFROS DLMS C D 5O dosrow.
(€©) ©BTFodb PR DAYDS (esofcirds) & K &,
DO R yasn:
(1) (a) oA (c) a&@m R (b) OGS SN,
(2) (b) 2DECD (c) DOTAD SR (a) LOTDAE 7,
(3) (@), (b), (c) ®) SOV
4) (a) AT 50 (b) O (¢) PO 6.

56, Read the following statements :
(a) Leaves appear green in colour because they do not absorb green light but reflect it.

(b) Development of forests in areas where previously forests existed is known as
*Afforestation’.

(¢) Carbon tetrachloride is an ozone depleting substance.

The correct option is :

(1) (a)and (c) are correct but (b) is wrong.

(2) (b) and (c) are correct but (a) is wrong.

(3)  All (a), (b), (c) are correct.

(4) (a)iscorrect but (b) and (c) are wrong. -

& 208 DSST o egdiabdo Sabod.

(a) ?Lm BHHD) o8 Fhosd n'a:) HorSES0 TWTow 08 ©d eodSym

Ao,

(b) ©osH HS10 edden &od ol L::rou-nﬁ‘ 08I0 ®HIHBD ‘©hd S5’
(Afforestation) 808D,

© OIS DATEDS, 255 oo Hordo.

HOTeS ma,;}g:m

(1) (&) b5 (c) HOTDSD 572 (b) QOIS 5.

(2) (b) S0BCI (c) HOTDAD R (a) HOTHAS 5.

(3) (@), (), (c) ®, DOToSD.

(@) (a) OTDAG 7R (b) 0B () DOTode) 5.

57.  Quinine, the drug used for malaria treatment is obtained from this plant

(1) Belladonna (2) Cinchona

(3) Bael (4) Aswagandha

SHBBCETD Soho Tabhardt aHRrAoT §53S DAS0 & s od aﬁ;&{aé&o&
(1) Bedw (2) %o

(3) SrBdo 4) &dgtiodp

P11 [S] 16-B
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List -1I
L. Ore of Al (Aluminium) a. Magnetite
ii. Ore of Fe (Iron) b. Bauxite
iii. Ore of Cu (Copper) ‘¢.  Philosopher's wool
iv. Ore of Zn (Zinc) d. Malachite
28 HS e,
wde -1 Do - 11
i ®eniACHO e g iy
ii. 28 i b.  2rB3&85
iii. D0 (Copper) réha) c. uapbyd
iv. 208 oréod . .d, SrerEdS
Correct match is : / HOTDDS 2D -
i ii fii iv
¢ b a d
2) b a d ¢
(3) d b c a
4 b c d a
5£9. Which one of the following is used in fireworks ?
(1) Sodium ' (2) Calcium
(3)  Sulphur (4) Phosphorous
Bod o8S' BN Larsaben @I Ho) SairdS’ adSrAard 7
(1) &acho 2 sdado
(3) denb 4) PHED
60. Smudy the following and pick up the wrong statement :
(1)  Chief cells produce gastric enzymes.
(2) Man has 4-chambered heart.
(3) Haemoglobin is a respiratory pigment.
(4) Insulin is produced by o-cells.
& 1800 TRV Bwiabd0 TR HOFI TRV HBoHSW.
(1)  OD Seren 2366 JoBHowd & )5 0 Pain.
(2) SrSHNS’ 4 Boends) HoS Sodh.
3) DHDS 2.8 7o S50,
(4) o-Seren BDHOS (Haarow.
P11 [s] 17-B
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61.
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mmuumhavmgmchm&mmfoﬂwmgm

i. Lemon juice
ii.  Washing soda solution
iii. Vinegar
iv. Milk of magnesia
V. Coffee
1208 S8S' 6 theo e |orderen
i Mol SN0 -
ii. afe Hor|TrdedD
i, b
iv. 0 e JDohiytacr
v. 9
(1) 4,1, v (2) ii,v
3) iv,v (4) i, iv
62. Natural rubber is polymer of
(a) Ethene (b) Isoprene (¢) Acetylene
(1) (b)only (2) (c)only
(3 (a), (®). () (4) (a)only
DB SyhE aolf rdH
(@) &S (b) ©MDS € NDBOS
(1) (@) SmSDh (2) (c) S &%
3 (@ ) E© 4) (a) Sressd
63. Which of the following are poor conductors of heat ?
(a)  Pure water (b) Irom
© Air (d) Steel
(1)  (c)only (2) (a), (c)only
(3) (a), (b)only (4) (a)only
& (808 O DD Do) AYTTTen ?
@ HEDS A% (b)  RSdSW
© md @ S
(1) (c) S @ (@), ) SmSD
@) (). (b) SmSW @) (a) S
64. “Acid rain” is caused by the presence of oxides of X and Y in air. X and Y are respectively
(1) Nitrogen, Sulphur (2) Sulphur, Lead
(3) Lead, Mercury ' (4) Nitrogen, Lead
mrdS' X H8d0 Y © el Senodé amwaﬁa"aaﬁé}m X HOGE) Y e
INTe Ve e
1) BESS b @ Knnﬁ. []-]
3) B8, oyd 4) BE=sS B8
P11 [s] 18-B
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llowing :

List — I (Physical Quantity) List — I (Unit)
a. Surface tension i. Poise
b. Impulse ii. Pascal
¢. Viscosity iii. Newton/m
d. Pressure iv. Newton-sec.
Sob are3R 2ad8S0d.
aDer -1 88 P arder - II (BDSresn)
A Sodisd i.  arowet
b. (555550 i, S
c. foafjed i, Argeads/d.
d. DBSS0 v, &rodh-DES
Correct match is : '
HOTS &G -

a2 b e d
(1) i i iv i
(2) iii ii i iv
(3) i iv i ii
4) iv i i iii

Pick up the wrong statement of the following :

(1)  Light year is the unit of time.

(2) Cream is separated from milk when it is chumed. This is due to centrifugal force.
(3) 'Ihedensitynfwmiamuimumutd_“(:tempm:mrc.

(4)  The velocity of sound on moon is zero.

&1 (808 TS HATD s HBoB0B.

(1) 5708 HoS5é 550 ST FOIIE [DAFSw,

(2) o VOSSHGR ) ShdHddod. HE sEmin wd Bo|es aesw.
(3)  4°C AP IO NS ro|cded KBRS,

(4) olLbOR G50 i B,

Pick out the wrong statement in the following :

(1)  Steel is more elastic than copper.

(2) The audible limit of sound of human ear is 20 Hertz to 20000 Hertz.

(3) When light travels from air into glass its frequency changes.

(4) Cadmium rods are used in Nuclear reactor to control noclear fission.

& 808 DS’ HOTR 51D Koo,

(1) oNEch &) pal Prose JH0)D.

(2) DI T DS S G5 HOG 20 rfT oA 20000 TS,

(3) so8md Lol mers's |HAFBODIDR 'R BSINLED STEE0D.

(4) o5 OaSr§hs” ol DDA & ToHarDE 8 H0 Ede sde.

Pl
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68. Assertion (A) : If a body moving in a circular path has constant speed, then there is no force

acting on it.

Reason (R) i 'I'hésirwlinuufmevalucityvmmrafabadymwinginntimulu.palhis
changing.

(1) (A)is wrong (R) is correct.

(2) (A)and (R) are correct and (R) is the correct explanation of (A).

(3) (A)and (R) are correct and (R) is not the correct explanation of (A).

(4) Both (A) and (R) are wrong.

B (A) 1 28 B Srdsnds aot IS P8SSH 5OA diwdys, R
O30 HATAHED.

OO (R) : 55850 Srdoss SDod 30 38 o4 {H Yo ViniTela N INE

(1) (A) S, R) DO 0SB,

(2) (A) SO (R) DD, OGN (R) @a05E (A) S0 HO o Adde,
(3)  (A) SHBcR (R) N8 o0, OGNS (R) ®08 (A) 50 O SO0 s
gl

(4) (A) O (R) &y,

69. An observer looks at a tree of height 15 m. with a telescope of magnifying power 10. To him the
tree appears
(1) 135 times taller (2) 10 times nearer
(3) 15 times nearer (4) 10 times taller
15 0. JHS) TP, 2.8 358 vIFSSD 10 o AroS0OD ADTFNOD HDVOTAD.
w0l o Ty
(1) 15 DD BT EDDNOD. (2) 10 B&D SHSMT EADROD,
(3) 15 D&Y SHSm DY od. @ 10 DY SrAHT EDDOS.

70. Match the following : -

List -1 List -1
Dalton i. Laws of motion
Newton ii. Atomic theory
Faraday iii. Theory of relativity
Einstein iv. Laws of electromagnetic induction

& 208 D 2855508,

aDer -1 Do -1

a oY i a0 Adharen

b &mbS i pEdren Hpodsn

c. ot . hg Rdgodaw

d. DIPS  iv. DNIOCHA 08 (DG ArEeD
Correct match is : / SDS &G :

Eoe e

a b [ d
(1) ii i iv iii
(2) i = iv i i
(3 v iid i i
(4) i ii iii iv

P11 [s] | 20-B
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71.  Which one of the following statements is not correct 7
(1)  Alauddin Khalji detached politics from Religion.

(2) Mohd. Bin Tughlaq introduced ‘Iqta’ system in Delhi Sultanate.
(3)  Firoz Shah Tughlag Collected ‘Jiziya' even from the Brahmans.
(4) The famous Persian festival ‘Nauroz’ was

& 800 TS D (HSHSSW HOWONOA T 7

(1) &0 0d TradcHINOD BHHONOD BeradS HO.
2) D DTIVES B DrdIsn I DSOS 05D S-Sl
(3)  (@ErEne S04 St BACE B8 SAren FHoS DES --SolfE

GET IT ON
Google Play

introduced at Delhi Sultanate Durbar by Balban.

@) D0 TodS HQAHE Do T HI S AD LerS Sor 6 am;,.al;mmm

72. March the following :

List-IT

List-I
(a) Kabir - i Cobbler
(b) Raidas - i Rajput
(c) Sena - il Weaver
(d) Pipa - iV Barber
S 500 e BebdEhSw.
arDer-1 arDer-1l

(a) D5 - i SE
® ooweh - i oresayds
€) DS - il Fedsdd
(d) & - v s

(@ @® @ ()
(1) iii 1 iv it
(2) iv i1 i i
(3) ii iv i iii
4 i i i v

73.  Maich the following :
Texts Writers

(a) Tarikh-i-Firuz Shahi i Isami
(b) Tabagat-i-Nasiri ii Ziauddin Barani

(¢} Futuh-al-Salatin
(d) Tarikh-i-Mubarak Shahi

iii Minhaj-us-Siraj
iv Ahmed Sihrindi

N I
=

& 1500 T 2SS,

(Utodsnen)
(2) =8f-2-58:T rir
(b) Sersd-z-HH
(€) H=seS-SerdS
(d) =rofi-n-duardE iy

_ (SSonden)
- i Rl
- i AcradS 28h
- il s -wT-hoeT
- iv edm& HBarod

The correct match is : / DO 2368 -

@ () (o) (_fi_l

(M i i iv i
(2) i m i v
(3 iv i i
@ i i i iy

Pl11
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74, Arrange the following wars chronologically :
(a) First Anglo Mysore War (b) Third Carnatic War
{c) First Anglo-Maratha War (d) First Anglo-Sikh War
& (800 ddsnod SerbEod’ (araibadn.
(@) D soff-PIrd cndsn () S STl dhugsn
©) Bwcded eoff-Hrto D codsn - (@) e soflf -y cln@asn
(1)  (b) (a) (c). (d) (2) (c)(d), (b), (a)
(3) (d), (a), (b), (c) 4) (a), () (c)(d)

75.  Assertion (A) :- In some places Artisans and craftsmen participated in the revolt of 1857,
Reason (R) :- The British Economic policy destroyed Indian Village Industries and Handicrafts.
The correct answer is :

(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

mbn_-;‘dg (A) : 1857 Bdberend’ FSH SHBHJTH HoOcn T8 Syhe o

8.

rEmsn (R) ; (DN oOEWE;, el Dordsdn rsSty rabed HOFHO S da
Sohed arddan DA,

DBS RNArrSe

(1) (A) HOA (R) Bodor Dz, 'R (R), (A) S8 e Dddes s,

2 (A)Rz0 TR, (R) ép.

@) (A) 83y 5D, (R) daso.
@ (A) SO (R) DOST 2w, (R), (A) 380 50800 DiSSe. -

76. lnwﬂnnm,‘r TthnghﬂqumesmwdtodiaiﬂamufmﬂmNaduShnhmdﬁhmud
Shah Abdali’s invasions.

Reason (R) :- The British East India Company treated the lﬂerMughﬂmmﬂigr:u
contempt.

(13 Both (A) and [’Ii'.} are true, but (R) is not the correct explanation of {A]

(2) (A)is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

PaIrSS (A) @ OO0 SHbddn ©S-r-ud Sodsdirse Sogd oo
2850 WSS Do,

TERSD (R) : DAL &rth) m08cr Jopsn 5458 Jond SEsHos B
FSS0E I RAD.

(1) (A) O (R) Bodhr desein. SR (R), (A) S50 D000 D50 7.

(2 (A) a0 D, (R) Siy.

(3)  (A) &3y SR, (R) daso.
(@)  (A) 8D (R) Bodr D2830. (R), (A) S8 HOean® SO,
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77.

78.

For whom Tilak acknowledged as his Political Guru ?
(1) Bankimchandra Chatopadhyaya (2)  Vishnusastry Chiplankar

(3) Chatrapati Shivaji (4) Sisirkumar Gosh
S8 A0 & oralad DG HBOT.

(1) 2ofosold S csH 2) PP DT oL
3) JHEd8 oA 4) 335 osird rn

Which of the following pair is not correctly matched 7

(1)  Karshak Praja Samithi —  Fazul Hag

(2)  Unionist Party .= Liagat Ali Khan

(3) Indian Muslim League ~  Mohd. Ali Jinnah

(4) Khudai Khidmatgar -~ Khan Abdul Gafar Khan
& (808 TS’ DA HO AN 236h e 7

(1) 585 Do DS - ddE

(2) chrlcHAYH > - Oarpd edgps

(3) =OACHS SV HN - oS ed A

4) Soron 885HEmrS - s e 5H0 oS

The popular folk Dance of Maharastra is known as

(1) Dandiya (2) Thumri
(3) Dadra (4) Thamasha
WO PS'D 1HS0W 2rSHE &S5

(1) crolds @ S

3 o= (4) <barar

Arrange the following Political Associations chronologically according to its inception :

(@) Madras Native Association (b) Poona Sarvajanika Sabha

(c) All Assam Ahom Association . (d) Indian Association

&1 1806 o8 S0POH ©D [ E0HONS TFOIND 28 serdiEos® T ciusy.
(a) R JAS eFVTHAS (b) o DELeNE D

© o oS oD oeFHEhAS @) 2000HS eFDEHAS

(1 ®), @ () S (2) (@) () @), ()

(3) (), (a), (b), (d) (4) (a), (), (c), (d)
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81. The Nagara, The Dravida and the Vesare are
(1)  The three linguistic groups in India
(2)  The three main styles of Indian Temple Architecture
(3)  The thres main musical ‘Gharanas’ prevalent in India
(4) The main Social Groups in India
ASHS, 1L Sobain AHS oD
(1) FESBIS'D Jardh DG gyar Darmrew,
(2) 2roaZiioS'D Jrdh Barodh ovim Ty Hddoen,
(3) oaBiodD Soeho DEeS HoAe WO Dee,
(4) ZrESBHOSD Stk DS areien.
82. Match the following :
List-1 - List-II
(a) Pandith Ravishanker i Sarod
(b) Bismillah Khan ' ii ~ Samthoor
(¢) Pandit Shivakumar Sharma iii =~ Shehanai
(d) Amjad Ali Khan iv  Sitar
& 208 TV 2SHHEE, '
aDer-1- aDee-11
(a) JHohHE SDF0EE i HEE
(b)) D/ S ' i Hodrd
© HoAS ISKIrE 45 i hredd
@) o8 wedyrs iv  Derd
(@ ) &
(1) iv i 6 i
@ i H iv i
3) v i i i
(4 i iv i iii
P11 [s]
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B3.

Many earliest Buddhist sources mentioned about six Mahanagaras of North India. They am.
(1)  Ujjayini, Saketa, Sravasti, Kausambi, Kasi, Rajgriha

(2) Taxila, Saketa, Rajgriha, Champa, Kasi and Kausambi

(3) Saketa, Rajgriha, Kasi, Champa, Sravasti and Kausambi

(4)  Sravasti, Pataliputra, Kasi, Champa, Saketa and Kausambi

ads POSTHMSEN 8h Jup; IBIOH SHHr SO TG Hodswen
DEFOLNT) 0w, @D eSS

(1) PO, arld, (TS, FRrod), 8 bty ovanyir.
(2) &5F0, B, oy, Sod, sF Hdok Farod.
(3) S, oy 58, SoD, (SN HBd TArod).

@) 7SR, >edYS, 52, $od, S, HAL Frod.

Assertion (A) :- The Gandhara school of art is also known as the Indo-Greek school.

Reason (R) :- The Gandhara school of art was highly influenced by the Greeco-Roman mraditions,
(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).

{2) (A) is true, but (R) is false.

(3)  (A) is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

DB (A) : mogrt 93O ‘20818 3D & Srar Deoart.

ES0 (R) : mosrd §v30 1AE-F5S roldordbsne 56 2rm (H2rDe 50008,

(1)  (A) »Odim (R) Bodr Da3dw. 5 (R), (A) S5 HOe00S s)edBeD S0,

(2)  (A) Qa0 5, (R) .
() (A) 83 S, (R) Ao,
@) (A) 2H0ck (R) Bodr Dzssiw. (R), (A) S5 HOS00S DSSE.

Which text describes “a daughter has been as a source of misery™ and “only son can be saviour of
the family"” ?

(1) Shatapata Brahmana (2) Kausitaki Brahmana
(3) Taittriya Brahmana (4) Aitareya Brahmana
BrD D3pdh EIPH  Sredd)  Tawer 5-:-&}:!02.?51 S0 Sdrdd
SP S SO DSBODS |Hodsw.
(1) #E3% 2w - (2) Fders e
(3) BSEDH 2 | @) DSBAdH 23

Pil

@ : 25-B


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

86. Which pair is not correctly matched ?

 (Gupta Rulers) (Their Queens)
(1) Samudragupta - Dattadevi
(2) Chandra Gupta II - Dhruvadevi
(3) Kumaragupta - Prabhavatidevi
(4) Chandra Gupta I - Kumaradevi
& 800 7SS DO HB®ONS 268 D ?
(103 orarex) (570 D olripex)
(1) DS ey - &S=Ed
@) Bo&sS SoldrDd: - GeEd
(3)  Bodrd Moaydho - | DrS8ty
(4) T Sodhrheych - Bodrsdd

87.  Arrange the following composition of texts chronologically :
(a) Bana's “Harshacharitra’ (b) Hemachandra’s ‘Kumarapalacharitra’
() Chand Bardai’s ‘Prithvirajraso’ (d) Bilhan's ‘Vikramankadevacharitra’
& 1508 fodhadned @ (FaHadd SOSrH0 |H5EaD Serd|Eos’ BHikh .,
(a) 2reagiéPd Wy TESo|s”
®) Trddolthd S ‘Hdrdare B0|s
© orodoboran Bk, ‘BadsoSor
(@) DY TG} ‘DFIrosES o\’

(1) (a), @), ®) @) @ @)@, ) (D

(3) (), (@) (b), (@) (4) (), (®), (c), (d)
88. The Sailendra Rulers of Sri Vijaya Empire established two monasteries in India. Where were they

located ? '
i Bodh Gaya _ ii.  Nalanda
iii. Nagapattnam iv.  Saranath
The correct answer is :
(1) iandiii (2) iiandiii
(3) iiiandiv (4) iandii .
2 DascsH AMSresssy 3o Traren rESEFOS’ Both HEeD JETELS VDO 7
i, &% Ha® i, Seood
iii. RS0 ' iv. JrSod
R0 DSFETSO .
(1)  i0akw iii _ (2) i oSoOCchD iii
@) iii 0B iv (4) iSodcoii
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ollowing :

(Kingdoms) (Capitals)
(8) Pandyas - i Uraiyur
(b) Pallavas - i Kanchipuram
{c) Cholas e Kuruvur
(d) Cheras - iv  Madurai
€4 1208 TN BSIGCDAW. .

(orasgSwe) (Sopg HmSnen)
(a) odogen - i Sl
(b) DRJHew - i S O0aGainy
© Skbexn - i Sk
) Toen - v gD

The correct match is : / DOTDAS 2368 ;
@ @® @© (@

(O i i v i
2 i @ @ v
() i iv o -
@) iv i i i

90. Auurﬂoum:~Th={:hnlummbushadasnwgnvmmmphtin5wthmmiamsprm
' Indian Culture and heritage.

Reason (R) :- The Chola kings were passionate about Indian Culture, religion and heritage.
(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A)is true, but (R) is false,

(3)  (A)is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

B (A) : S eifyob ehdrd® erssics RO HB DOA TSRO HOHEK
T2 BALAPDVE DT (PR 2.8 DOPR ST PDOO,

oS0 (R) : SY rofed r88dh 308398, HS0 2O TEVSS HoNG S0
TR Bd 108 S80S DRSS,

(1) (A) 0w (R) Bodr Aesedw. (R), (A) & 2080w DG 5.
(2) (A) D20 R, (R) &3y

3)  (A) 85y 59, (R) Deso.
4)  (A) DOAW (R) Bodr Dassn, 8GN (R), (A) £ HOS00S DSSes.
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91. Which one of the following oi‘ganisatinm is proposed, in the last week of June 2018, to be
established by the government of India for the improvement of academic standards and the
quality of higher education by repealing the University Grants Commission ?

(1) National Council of Higher Education

(2) All India Council for Higher Education

(3) Higher Education Commission of India

(4) University Education Commission of India

2018 278 D50 S80S, Dorg DS ES Dhiiide FHo HOCL &S DS TSR

Totsero FHo rdes (HZosgo durRSod (o) EunS Fdod” S0 o8S O
HoPA DTN TASron) 1HSTGoD0 7

(1) FAIS TS 6D cHB RS

(2) o 20Adr TS HB Iohl HEEaS
(3) Doyl HEAS FAS 8D Boddir

4) crdS0 M DAEAS EAS @D 0405

92. Examine the following statements :
' A. The subjéct of the prevention of food adulteration is in the unl:ra] list" of Indian

Constituion.

B. The ‘Prevention of Food Adulteration Act, 1954’ came into force on 28™ September, 1954
in India.

Choose the correct answer :

(1) DBoth A and B are incorrect {(2) Only A is correct

(3) OnlyB is correct _ {(4) Both A and B are correct

808 wored H08Dotod

A @55 5 Dot Ho20000&8 ®oio grdd oreriolid ‘Sold arde &' aod.
B. ‘e ¢ dode o&o 1954 arﬁé:ﬁoé" 1954 oS 28 ) eHends's

D00,
HOTLA e JobE Wabhod
(1) ASBCH B BoGr A0V TH (2) ASmead :;e.@:.m
(3) B SHMS S0TPpsd (4) A DO B Dodr HOTAD

93, Which of the following are included in ‘abiotic environment® ?

A. Wind B. Water C. Animals
D. Plants E. Soil

208 38 D85 (DHTrAE) cerldmods W8P0 D ?

A. od0Y (D) B. A% C. 20&en
D. Boo¥yen E. Jo

Choose the corect answer : / DOTDS 27200 HODE WAoo

(1) B &Eonly 2) * A, C & D only

(3 ABCD&E 4) A,B&Eonly
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94. In retaliation against US announcement imposing tariffs on steel and aluminium items in March
2018, India notified higher tariffs on items imported from the US which include :
A.  Almonds, apples, walnuts |
B.  Phosphoric acid, boric acid
C. 800 CC (or more) motor-cycles
D. Some grades of iron and steel

S:8) 2018 &' A%y, OrLIo SWHOD Wosen DO «WOS Siosod)
DYOSrDs 358BFoT 1HAPG0S &M Hod HHHS TWnHTE 800 D INHOD
2rS8Tio 8HE HoTOS [H5B0D0S 7

A 2GS0, P (D)), TS5 (w8 D)

B. arar ol edo, 508 edo

C. 800 CC (S0chn e0&5 MoDS) Irerdd EW

D. @”0sn, oy HoDodod D) Ssen (s

Choose the correct answer ; / DO BT 200 JODE Dahod :

(1) B,Cé&Donly ' (2) A,C&Donly

(3) A,B & Donly (4) A,B & Conly

95. Examine the following statements about Telangana and India on the basis of data provided by
2011 Census and Socio Economic OQutlook 2018 :

A. The percentage of urban population to total population in 2011 was more in Telangana than
in India.

B. The percentage of decadal population growth rate during 2001-2011 was also more in
Telangana when compared to India.

C. The sex ratio of population in 2011 was more in Telangana than in India.

D. The literacy rate of population in 2011 in India was more when compared to Telangana.

E. The density of population in 2011 in India was less than that of Telangana.

2011 a3y derosren oL ‘SFUTr HESE Tdlens - 2018' ®oB0DS DIFTTGO
errdor Boorn HOG PFESHIOH Ho020000 208 DIBODH (WoTe)
H62DoB0d

A. 2011 HoS8 508" Bdo aveprds ;’:@w By Téo rEstiod’ o Boorns’
8025 o Bd0D.

B. 20012011 &7 SO BT 598 Ue.n PS80 ST rEStos HO)B Boorand'
28035 wodod, *

C. 2011 & amrprd’ Dol DH)8 ridaios' Som Boomres '™ J8S. .

D. 2011 & sfode Bt Bvomrard 20 @ résliods’ 505 #0dod.

E. 2011 & aargr ro|é Boomrn Sob prsaliod’ 8505m aodod. .

Choose the correct answer : / OGS aarand JodE Habod :

(1) A, CandD only (2) B,D &Eonly

3) A,B,C,D&E (4) A,B,C&E only

P11 (8] 29.B
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96.

Which among the following are guaranteed by the Constitution of India ?

A.  Freedom to move freely throughout the country .

B. Freedom to assemble peacefully without arms

C.  Freedom to own, acquire and dispose a property anywhere in the country
D.  Freedom to practice any trade or profession

8o i8S Fe38 ardé oresorio D aWod ?

A, T30S D 1Dodod wonar B ST HosBoT S,

B, eduddrodonr rodding Jsrdras 2595 D).

C. ro88ios O |rosos wond eNoD O/ @od JSo>rdod HEE
& 30508 VLS.

‘D. 2 JErdo Bor 338 wonar TS D).

Choose the correct answer : / HOTD B0y JODE Lo :
(1) B&Donly . (2) A,B &Donly
(3) A,C&D only 4) A,B & C only

Arrange the names of the following Speakers of Lok Sabha in a chronological order of the office
they held :

a. K.S. Hegde "~ b. RabiRay ¢. Balram Jakhar

d. Shivaraj Patil e. P.A. Sangma |

808 JrD0HDAS S'S HZ5 BYEG DS SerH|ESo serdor @508

a. B.2%.7%r0 b. DB c. aworo 288

d. 3350 >r48S e. D Doy

Choose the correct order/answer : / QO Terfdocd/aarand Jong Sabod :
(1) c¢adb&e 2 ebad&e

(3 acbd&e 4) adec&b

Examine the following statements with regard to office of Speaker of Lok Sabha :
A.  Neglam Sanjeeva Reddy was Speaker of the Lok Sabha twice.

B.  Speaker of the Lok Sabha always comes from the ruling party.

C. K.S. Hegde was succeeded by Balram Jakhar as the Speaker.

D. The Protem Speaker of the 16™ Lok Sabha was Jyotiriditya Scindia.
S'8025 H)88 HSDE B020HONN 80d DIBBOS HBDoS0A :

A S'8I% DYEBM Do HoH#S B Boch Y JHSDS' @rol.

B, 058> ool ed) oo 85 D) P,

C. 200D a85 8.0, ] dthard L85 DA DY sAroTTw.

D. 1685 &8 38 %D H)E8r 2B Ad; HoATTT SiSrBoTW.
Choose the correct answer : / 0TS JArerarR)) ool Hahod :

(1) A.B&Donly (2) A&Conly

(3) A&Donly 4) A,C&Donly
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99, Examinc the following statements with regard to Telangana State Panchayari Raj Act, 2018,
a. Roznamcha is a diary in which details of dead people are maintained.
b. The quorum for the Grama Sabha if voters are 3001 to 5000 is 300 members.

The eligibility age for office of Sarpanch is 21 years,

The number of wards in a village with population exceeding 1500 but not exceeding 3000 is
11 (eleven).

Boors o domrond ovef 40 2018 & Ho20A0DS DGO HOIDoS0A |

a. SN Sive DIoreD ST Taso BO Fassr) o,

b. 3001 od 5000 S Hoggsy (M HZF EES 300 OB HZHgED.

c. [P AOJ00 HADE eGed SO 21 Hodeé yorew,

d. 1500 2arerdd od HOG® 3000 2R ot mbod' e Hopyg 11

L

(DSEo).
Choose the correct answer. / OGS 237208 JoDE TWahod ;
(1) a&bonly (2) c&donly

(3) b,c&donly (4) a,c&donly

100. Examine the following statements with regard to the Constitution of India :
a. Area-wise reservation (371D) prevails over reservation under Article 15(4),

b. The main object of Article 12 is to secure paramountcy of Constitution in regard to
Fundamental Rights.

¢. Under Article 13(3) paramountcy of the Constitution doesn't extend to non-legislative
sources of law.

d. Article 17 has been implemented by Protection of Civil Rights Act 1955.
aried o o8 Ho0HOD 80O ISR HBFD00H

a. ®HISR0 15(4) & ¥DoDS 02B RS A ESI0D WOESH0 371D 208 D100
D230 $30.05 ArES 0 Tewaray eHsod,

b, rEE FEpol Son0H0D TErOMOsSsh Srosdd ©o88®0 12 T
Sopg aidéo.

c. ®OE0L0 13(3) SDHOOD) TITSS B eroreth Trariomrd s S80S,

d. &S o HO5E SO 1955 O IT 8HEER0 17 eden Tdhadhedod.

Choose the correct answer : / iﬁ@@&'} 220D oDE Hahod

(1) bé&donly (2) abc&kd

(3) ‘b,c&donly (4) a&donly
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101. Which one among the following is pot true with regard to joint sitting of the Parliament 7

(D
(2)
3
(4)

In the absence of Speaker, Deputy Speaker presides over it.

In the absence of Deputy Sepaker, Deputy Chairman of Rajya Sabha presides over ir.
In the absence of Deputy Chairman, the Chairman of Rajya Sabha presides over it.

It is presided over by Speaker. '

$0d 0SS IFRoodS Hocknd HIrFHSvOE HoDOHOD HOTSA TRA.

(1)
(2)
3
4

258 B Asrpe8 £)55 eds8 S Sroth,

A3 588 HHEE BOS, oraspdds A BDIS &5 S Srochcb.
Ba35e8 B0 IS BT, oragds OIS wd gl & SIrorid,

£)58 15 S S0,

102. The Grand banks and Dogger banks are famous for

(1)
(3)

Pearl fisheries (2) Shallow water fisheries
Deep water fisheries (4) Coral reefs

ol argoso S0cin aril ergosien H08 30O 7

(1
(2)
(3)
)

(1)
(3

(1)

08423 HODHGH Do2LodoD Hé s e

e sered’ oot Hhen
emd acrod’ oot Wden
W HEgen
103. ‘Milpa’, a type of cultivation in Mesoamerica is known as
Shifting cultivation ' (2) Nomadic herding
Plantation agriculture  (4) Subsistence agriculture
DFODos S'D ‘er) oM FHH DOTB HH IB?
2 Sgdrrabo (2) HHordeo
&' S5 ao (4) ASTord Si3draho

(3)

104. Which one among the following is not correct 7

(1)
(2)
(3)

C

President of India with the consent of the Governor can entrust any matter related to
executive power of the Union to the State Government,

Governor unconditionally can entrust any matter related to executive power of the State to
Government of India with its consent.

President of India without the consent of the Governor can entrust any matter related to
executive power of the Union to the State Government.

Governor can entrust conditionally any matter related to executive power of the State to
Government of India with its consent.

1208 TS H8TDA DA T

(1)
(2)
(3)

(4)

FO& |NEhes SENTLTE @HTGed D DAHINTT o8, #3616
D30BE OB HZDS $30AE ©DINOTS STH Y.

oM (DS TS0 ETE edrdsned’ D DhdbinBwr #8885 Basdr Yo
D0 s B E trO8 edHoch S,

Soldd |Bdheds SEINTLETE ©AFSINOS D DACHINTT KSELE &HHa
BH00 TR (HZDS S50550 ®DINO T30,

O (D305 S0 LTE 8HTSSNOS’ D DACHISVT 19515 Yol 1D
28 o 10 Added ©h A0S S ).
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List-1 List-1I
(a) 'V’ shaped valley i Wind erosion
(b) ‘U’ shaped valley  ii  Karst topography
(c) Sink holes 11 Glacial erosion -
(d) Yardangs v River erosion
8086 TR BEHGTON: -
wder -1 ader -1
(8) VesdhsSah i HISEhEabo
b)) VesrdPSaD il OIS Pors)d
(€@ Dol e i rXraSS | cho
d) dirBarofi iv N0 g obo
Choose the correct answn'fpun 1 DO BT20/BSOD JODE TAHOS :
a b c
(1) u iv iii i
@ v i @i i
(3) i i o iv
(4) i iii iv ii
106. Match the following :
List-1 List - 1
(a) Inter tropical convergence i Equatorial calm
Zonc
()  Polar front ii  Sub-tropical calm
(¢) Horse latitudes iii  Convergence of westerlies and
polar easterlies
(d) Doldrums iv  Convergence of NE. & S.E.
trades
808 30 38HGS0A
Do -1 ardDer -1
(a) 0 adds By i FHrdoddy B Do geb hodeo
®dH6m Hodeo
(b) S w0 i Ardadhs iy Aot SHodeo
(c) oisegoren i I e eDIH8e0 Hbain
_ Sed &80 Hdrren
@ &fdoen iv  Serdy Hocy elab aprd
Jdre eddHdoo
Choose the cormect answer/pairs : / r‘&ﬁ@uﬁ 2aTrans/2de S JobE Habod :
a b c d -
( ii iv i i
2) 1 i ili v

@ iv il i i
@ i i v i

107. Woﬂdldupmmicmchh

[1} (2) Mariana (3) Puerto Rico (4) Sunda
S STEHTOA 0 et SotE0o B 7
(n S'or @ o . () o @) oo
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108. Assertion (A) : EI-NINO phenomena is associated with Peruvian current.
Reason (R) + Peruvian current is a cold current.
The correct answer is :

(1)  Both (A) and (R) are individually true but (R) is not the correct explanation of (A).

(2)  (A)is true and (R) is false.

(3)  (A)is false, but (R) is true. _

(4) Both (A) and (R) are individually true and (R) is the correct explanation of (A).

PIDSS(A): IE-IS ©F SANa00  DEFDAHS SIS (Horod
~ ROOGODNOG. _

FO®o (R) : DEDAHS HIS (Hiviro 2.& fde PHawro.

QOTeS SAFErS0 ;

(1) (A) 0G50 (R) Bodr 2.ty TR (R) @A (A) 50 HOEDS Dbt S,

(2]; (A) RO 2.3y SHOdW (R) oS S5y,
(3) (A) IO S350 (R) 0TS 2.y,
@) (A)oOdin (R) Bodr sy iy (R) ®F0 (A) 50 HOTed DB,

Assertion (A) : In southern hemisphere, westerlies are stronger with very high velocity of

109.
winds than in the northern hemisphere.
Reason (R) ¢ In southern hemisphere, there is vast expanse of ocean and therefore
. westerlies attain terrific speed.
(1)  Both (A) and (R) are individually true but (R) is not the correct explanation of (A),
(2)  (A)is true and (R) is false.
(3)  (A)is false, but (R) is true.
(4) Both (A) and (R) are lndlwduaﬂy true and (R) is the correct explanation of {A}
The correct answer is :
DODES (A): SEerd Yo oy ::E;,m DS adoy Avos' ) HTD
dSrey Lo edE Frod peoomr Haron.
TSmO (R) : Sferd A% Ire slvoos Hoddo Sreor HT Ddaren
SRS Biiod’ doerow.
RO ddrgrdo
(1) (A) 0o (R) Dodr 2.5y S0 (R) 8T8 (A) 50 30DS DI38E 5.
@) (A) &0 2y HOAD (R) ©T &,
(B)  (A) 830 &3, 50 (R) 93O sy,
(4)  (A) DO (R) DOAT 2uisy HOA (R) @A (A) S0 HOTDA DSS.
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110. Assertion (A) : Coral bleaching refers to whitening of coral reefs.
Reason (R) : Great Barmer Reef near Australm is the largest coral reef formation.
The correct answer is :

(1) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).
(2) (A)is true and (R) is false.

(3) (A) is false but (R) is true.

(4) Both (A) and (R) are individually true and (R) is the correct explanation of (A).
DADES (A): DT Hook oF6 Hard HAsoD HIEHETE @ur THa).
S5m0 (R) @Rl & 11 wroahd 8D el6 2.8 dve L.’:a'# Has. -
OTd DATETRO :

(1) (A) SO (R) Bodhr 2oy s (R) 8838 (A) 50 0TS DG .
(2)  (A) ©FTS a5y 205 (R) @R &5y,

(3) (A) TS 85,50 (R) TS 2.5y

(4) (A)SO8akn (R) Bodr .5y SHO050 (R) @8 (A) 5 S0 DS,

111. Examine the following statements :
A. A biodiversity hotspot is a biogeographical region, which is biologically diverse.
B. They have high concentration of endemic species.
C.  Western ghats in India is a biodiversity hotspot.
808 T T (DSSmO) HOFDOSOS :
A ASBPS; S 65.15 28 45 TNVE Zrodo. ad ¥ A5550m DS Dod.
B. 2 3rdsadod odiom JobsysD dodron.
C. e-.:--:maa'oﬁ' DB Scodoen 2 A5 DS ¢S Al
Choose the correct answer / statements : / SO DISOR0/23a720/A0 JODE Tabod:

(1) A & Conly (2) B&Conly
(3) AB&C = (4) A &B only
112. Assertion (A) : North-east and north-west Atlantic ocean is one of the major fishing grounds of
the world.
Reason (R) :The warm water of Gulf stream and the cold Labrador current meet near
Mewfoundland.
The correct answer is :

(1) Both (A) and (R) are true but (R) is not the correct explanation of {A)

(2) (A)is true and (R) is false.

(3) (A)is false but (R) is true.

- (4) Both (A) and (R) are true and (R) is the correct explanation of (A).

DB (A) : SS) DHOA rabsy eérodss SHirdando 1Hotod’ o 1Hers
RAENS-AE L)

PEMO (R) : Srgroderiod 5@ 6 (R0 TE; ISR A BRoerd W
IDarrod’ fenyod.

RO ASrTEO

(1) (A) SHOGW (R) BOAr iy 5 (R) @D (A) H L0 DS 5.

(2)  (A) D 2.5 SHOWD (R) SO &3y,

(3)  (A) ®TD S5y 5 (R) 0TSO &y

4  (A) HOED (R) DOAT 2.5y 00050 (R) ™0 (A) 5o S&Tod Deddes.

P11 35.B
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113. Examine the following statements :

A, Dr. VKRV, Rao was the first person to estimate national income in India before
independence. :

B. Soon after independence, the central government appointed the ‘National Income
Committee’ to estimate national income in India.

C. Dr. V.K.R.V. Rao was appointed as the chairman of the committee.

800 vworvd H83DoOM :

A, ol oo risTHod 2Adroraird) soda IS Jncsed 558
o V.EKRY. o).

B. iS0850 D)0 Soad résfios’ racirordird) sodd Iahards
ardeh 1D J0 ‘radirarol £ D Dohodod.

C. ® 5eds S0 S ar VKRV, ory dohoodargrd.
Choose the correct answer : / OBEDHA 220 JobE Sabod
(1) A & Conly . (2) Bonly

(3) Conly (4) A &Bonly

114, Examine the following statements : .
A.  Anil Sant is the Registrar General & Census Commissioner , India.
B. The ‘demographic dividend' term was first coined by David Bloom.

Choose the correct answer :

(1) Both A and B are incorrect. (2) Only A is correct.

(3) Only B is correct. (4) Both A and B are correct.
8058 worwd H03DoN0d

A SSTHD 0B E 2388 & DBID FWDSE: 8IS Sod
B. ‘B3rrdS 40304 @ Dorl)/arard) Mcddm 1HTrhodod DS 2.

HOTDH T2 DODE VaHod

(1)  ASO0SH B Dodr HOFID 5. (2) A SN S SOToSO.

(3) B Srehth H6Tdsd. 4) A O B Bodr HOTHSR.
118, Indicators of economic development include :

A. Real Gross Domestic Product B. Real Per Capita Income

C.  Population Explosion D. Human Development Index

E. More dependence on labour intensive techniques
208 TUS adsdSHd Hrdis' ad ) D 7
A, TRNE o BITra )8 B. SRDE&o58 eorcho

C. a0 D. &rddediygdrd
E. [#d Rrods HgdhoR ebSom ardsddo

Choose the correct answer : / S80S 2857205 oD Tabhod :
(1) C&Eonly (2) C,D&Eonly
(3) A,B,C&Donly (4) A,B&D only

P11 y 36-B
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116. Examine the following pairs :
Index Developed by

A.  Physical Quality of Life Index -~ Morris David Morris

B. Gender Inequality Index - UN Human Rights Council

C. Human Development Index -  World Health Organisation

D.  Multi-dimensional Poverty Index — Oxford Poverty & Human
Development Initiative and UN
Development Programme

806 s H6I0oNS : | .

ELATAC AT S ' ®wDSHQ TS /0P
A, TOY A55 1HAre Hrd - Ardh DA oD
B. Dol edsrdss drds. - DS 33335 e FRyS08d
(UNHRC) :
C. &rds @Sy Srds —  (BdHo ey Hop (WHO)
D. a2duard)s HAoE ardE - @E5)HE DOo0%0 O SrdS edSHE

®OS0 0 )8/ 38 (OPHDD) SHdcw
adin.d. @SHQ |12 mo (UNDP).

Choose the correct pairs/answer ; / OT0eS Bederd/2araned JohE Tahod :

(1) A&Bonly : (2) B &C only

(3) A,C&Donly (4) A&Donly

117. Examine the following statements about demonetisation in India :
A. ¥500 and ¥ 1,000 notes were demonetised by the Government of India in 2016.

B. The Central Government announced the demonetisation move on the evening of November 18,
2016. |

C. Declaring the currency notes as not legal tender indicates the demonetisation of those
currency notes.

TESTHoS’ S8 S 585D 80O BoTeHD 384D0S0A ;
A. 5G| HZDS 50 2016 S G 500 SHOC5N G 1,000 S 8 THod.
B. 33025 18, 2016 43 rahoido S 3 AcirD) ol (Db jo DHEBoDD.

C. 53Q) SR SRS Sty 30 (DEBoDIM @ D) Sy 5D sanseym

grooord,
Choose the correct answer : / HBeS 235720050 HODHE Tahod :
(1) A & Conly (2) B & Conly
(3) AB&C (4) A & B only

P11 [s] 3-8
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118. T-Hub is India’s largest incubator for start-ups and a unique public-private parmmm;r between :

119.

120.

A. Govemmment of Telangana B. Govemment of India
C. IIT-Hyderabad D. NALSAR

E. Indian School of Business (ISB)

WE-0D )% rEs8I0S'T 08 P ROHBLS wond ‘@-55 Sod ;8S' IS Hd;
5B E RS HDE DA arriarsogom &od 7

A, 8oord |HEé o B. 2rdé |HZbédso

C. o008 -2rsocard D. &oyb

E. 20800 & ah DAa3h (ool

Choose the correct answer : / SO Barendd Job¥ Tabod :

(1) A,B&Eonly (2) B,D&Eonly

(3) A,B,C&Donly (4) A,C,D &Eonly

Examine the following statements about the resolutions of the meeting of the *‘Monetary Policy
Committee’ of RBI held during June 4-6, 2018 :

A.  The repo rate was increased by 25 basis points to 6.25%,

B.  The reverse repo rate was increased to 6,.25%.

C.  The bank rate was fixed at 6.50%. -

Bzt s ergoso Tl 18S) DS el JDarddo anS 4-6, 2018 To0S® 2ONOA. &
30385 dopmrod Ho020L00 $08 BOTLSD HOIDODH0A |

A. DY Bend 25 BOD ooty Dothdr 6.25 raomr a-ﬁn:.:.m

B. 83808 Béndd 6.25% Tern Do,

C. zrgo% Bend 6.50% m dovord.

Choose the correct answer : / DO 2372050 JoD¥ FHabod :

(1) Conly (2) A &Conly
(3) AB&C (4) A &B only
Match the following :
Scheme/Yojansa Launched on
A.  Pradhan Mantri Mudra Yojana i 9% May, 2015
B.  Pradhan Mantri Jan Dhan Yojana - 12* April, 2005
C.  National Rural Health Mission iii  28* August, 2014
D. Pradhan Mantri Suraksha Bima Yojana iv. 8™ April, 2015
206 T B8DHES0H
wPHio/Trus adofo/Nor e
A DS SO S0 TSRS i 39,2015 -
B. |96 0|8 2 &S Srasas i DS 12, 2005
C. 28cb rioe edli Das i esfip 28, 2014
D. e Do sE Dar Drads iv D58, 2018
Choose the correct pnirs / answer : / HOTDS 2e8/8352050 JODE Waod :
A B- D
() @i i u iv ¢
(2 i i iv i
B v oW i i

4 i iv i i
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121. Besides Sachin Tendulkar, who are the other Indian cricketers who played more than 500

122,

international matches (test matches, one day and T20 internationals) ?

A.  Sourav Ganguly B. Rahul Dravid C.  Anil Kumble
D. M.S. Dhoni E.  Virender Sehwag

Choose the correct answer :

(1) B&Donly (2) A,C&Eonly

(3) A,C&Donly (4) A,B&Donly

RHOS WotheBE' drew, 500 wosTAH Irphod (B Srichey, 2.8 Sar J605H
T20 &7 §eioen) 8BS RSS S8 (S IS 7

A, oSS sorrd B. oS ods C &8 503
D. MS. &2 E. DBodS sk

DOFTHS B2 JoDE Fohod : :

(1) B Ocin D Sme&dD (2) A, CHOckn E Srehsd

(3) A CHABHD &rmadh - (4) A, BS00 D Im&

lnFebrunr_vIﬂls,UﬂﬂmmtnppmwﬁmcanH-ﬁ#EApxhemnkheli:‘:nptmmlrﬂh

Identify the correct statements relating this approval ; _

(A) Tumltnimnhdumtis.t?!ﬂmjlﬁonmdmcpﬂmcmﬂracmfmthgsuppmmﬂncmd:
Lockheed Martin, Longbow, Boeing etc. '

- (B) Italso includes simulators, communication equipment and has night fighting feature.

(C) Thr.-utimntedmtilSSBﬂmﬂﬁmmdth:pﬁnnmmmrsmAgummumdm

(D) * Tt will strengthen India’s ability to defend its homeland and deter regional threats,

Choose the correct answer : ]

(1) (A), (B), (D) only ) (2) (C), (D) only

(3) (B),(C), (D) only 4) (A, @B)only

V2SO 2018 &' US |DZDSIO AH-64E Apache A TOSPID rESHTDS

AFAOBNErRE sddBoDod. AV JonoBoNS DAcres 208 HISmudt DI

L0030 Et::‘_‘-&od: :

(A) & ad)odo TwE; Wdo eodT IicHo $930 WOHS) HOA® vy
©IT08 |1DEPS SoErED &S Sr0S, erofm), Sonolf SASen.

®) =o' erior DB, LTINS H050en Josron. HAG 2D S
ey Ford) & F erexy SOA Jodrow. _ '

© & adyodo SwE; Jvdo sodar Igaho $830 WAHHS) Doy ADS
NOROBONY  |HEPS TOIErED,) : e Terod  (Agustawestiand) SO
Qo R)DEDES (Aerospatiate).

D) & 253000 835 Sréy ZHrd FHGRESErIE Hoc |Foach BEoHO®
ePLIErE erdalI ADTE0Y HODSHOS,

RBAN DdroTR)Qond Tchod

(1) (A) (B) S8 (D) S @ (©), (D) smsDH
@) (B), (C) 2B (D) SMSDH @  (A)(B) S

Pl1

) | s
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123,

124,

125.

Who are the richest top three billionaires in the world as per Forbes 2018 list released in March
2018 7 .

(A) Bill Gates (B) Warren Buffett (C) Mark Zuckerberg

(D) Jeff Bezos (E) Mukesh Ambani

3783 201865 DRSBI 5 2018 DS HH0B0S5'D Bdod HHS0MTD Snfhdd
DOSHHE DSt 7

A) DSEAS (B) DS s €y &8y 2yl

(D) BDTED (B SoPh sowrd

Choose the correct answer ; / 8T Aaransd JobE Habod

(1) (A),(B) & (C) (2) (E),(C) & (D)

(3) (B)(A)&(E) (4) (D), (A) & (B)

In June 2018, Smt. Nirmala Sitharaman inaugurated 16 MW solar PV power plant at the Heavy

Vehicle Factory in Chennai. Identify the comrect statements on the subject from the following :

(A) The plant was established by Bharat Electronics Ltd, Avadi, Chennai.

(B) Itcosts T 105 crores.

(C) It will provide green energy and promote Green India initiative.

(D) It also helps in reduction of sulphur dioxide and improve air quality.

Choose the cormect answer :

(1) (A). (B), (C), (D) (2) (A), (C), (D) only

(3) (@B ? only ‘(4) (A),(C)only

23S 2018 & 208 J8er HErond Trd BrEd) 2 TS 16 D Aferd 1D,

538 Totnd |FrdoDodod. HAE Ho20H0DN HOT JSSRLD th8odod:

(A) & rotnd 2rds Jo|FAE) DBLS, uld, TBS Frhooth.

(B) & "0t P G, 1::-5;&9. :

(€) & oty IAS 540 as S0 TWNod Hocn AS adThS S5
LS o, .

@ 20 H0)5 3 eS8 dloddod’ HIES0N Fraing Fenarid) $iyod.

HOTodS BaTrandd dohE tlabod :

(1)  (A),(B),(C), (D) 2) (A)(C), (D) Sr(ed

(3) (B), (D) Sr&3h (4) (A, (C) ST ST

A famous person, David Douglas Duncan was passed away in June 2018 in France. Which
profession does he belong to and what was his role 7

(A) Photography, he changed the role of war photography.

(B) He projected the suffering of soldiers in Korea & Viemam,

(C) He belonged to the era of World War II.

(D) He died in August, 2018.

oS 2018 & @rS) S DS Hod $05S oF (Herid HVN YT, eI 2
398" aodarch SO ©d TInd) arid O ?

(A) GroHOS Mo (PEID), BED gD Jo20HoDS rdd Digo Ty

TSl STy, -
(B) e TOHAF OGN DohHEr SHer &' DAL erddedd GO 0d TRrd.

(€ @& 235 (HHo dhugo Trdlardy,

D) e eicY 2018 & S,
Choose the correct answer : / HOTDS Bar20d Jons Tabod :
(1)  (A), (B)only (2) (A), (C), (D) only

Fil

{3} {ﬁ:l. (B:L (C}'r {D] {4} (Ajl (BL I:C] ﬂﬂ.‘}f

[s] 40-B
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126. 2018 Padma Vibushan recepients from among the following are :
(A) Gulam Mustafa Khan (B) A.Revati (C) Sri Krishna
(D) P, Parameswaran (E) Justice S.M. Sikri (F) Illaiyaraja

127.

128.

PIl

(G) Fatima Sultana

808 0S" 2018 He5 DLEFAS (Hidreben NS5 ? : -

(A)  MHero SoJ g S (B) A.BSB © 389

(D) P, DS0HE 555 (B) 290 SM. DS F) avahoer
(Q) Pradsr Hera ’

Choose the correct answer : / DO 237720 Q0DE Fabod

(1) B.D&F only (2) A,B,C,E&F only

(3) A,D&Fonly (4) A,C,E & Gonly

On 14 June 2018 who became the first' ever Indian batsman to score a century in the first

session of the test matches and joined ranks of whom ?

(1)  Shikhar Dhawan - joined Sir Don Bradman, Victor Trumper, Charles Macartney, Majid
Khan and David Warner -

(2)  K.L. Rahul - joined Sir Don Bradman, Viv Richards and Sunil Gavaskar

(3) Murali Vijay - joined Clive Lyod, Gundappa Vishwanath and Sir Don Bradman

(4)  Virat Kohli - joined Sir Don Bradman, Victor Trumper, Majid Khan and David Warner.

2278 14, 2018 T BY Irprhe Jocied RASST Dodtd rdods IR rds

27 $€3.000045 a5 7 ROSBH SN0 &1 DeSorr 38 TS O WoSTHAD (5365 275¢5 10

Fhed Soth 1 o His 7

() 0 IS Tord. add F6S =der : H6 oS 20855, JE6 1Lod6, o8y
S0SERT (Charles Macartney), Srr238 g So0cin TS 28,5

2) 528 oiud Tk, w8 F08 rde : HBTS 2SS, DS 838 SHdatn

NS Ky, 8.

(3)  Sd¥ dadd TAW. 2 TOS Der : 35 erch, HodD) DTS B
DB @S 1278, i

@) Do T Tardh. @ DS oS 27808, DEG 12055, Sr2S S Hbdky H05
>8)8 erders' Tordh. |

Examine the following statements about the National Commission for Protection of Child Rights'
{NCPCR) of India : .
A. It was set up in March 2017 under the 'Commissions for Protection of Child Rights (CPCR)
Act, 2015
B. Itis a constitutional body.
C. The chairman of the commission is Stuti Narain Kacker.
D. Thechild is defined as a person in the age group of 0-18 years, e
PESTHY ‘eroo i Sie ¥oo 2radh SAS (NCPCR) K000 06 dSSme
H830otod:
A. E;I‘EJ FEoye S5 FHo ENAS B4, 2015 egrdor S78) 2017 & HOD dovyéw
. .
B. ad ¥ orergoll How. '
C. & 008 re roroDed 85,0 SO 5 drae) . _
D. 0008 18 20458070 So0R0)S fiey Si5ed arven (D) A8 sdotsadod.
oose the correct answer : / HOFTDS Barawed oS Tabod :
(1) C&Donly " (2 A,B&Donly
(3) B,C&Donly (4) A & Bonly

[§] 4B
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129. 'Which of the following statsments are correct 7 °

130.

131.

(A) Anjolie Ela Menon was awarded ‘Kalidas Samman’ for Visual Arts by Madhya Pradesh.

(B) The Council of Scientific and Industrial Research (CSIR) was awarded National
Intellectual Property (IP) Award 2018. *

(C) Best actress award in 65th National Film Fare 2018 was awarded w0 Deepika Padukone.

(D) Navjot Kaur becomes first Indian woman to win gold at Asian Karate Championship.

20 ad sl eorod HPID DD ?

(A) HAUHTT 1520850 ©oB'D er HAS Ko eSS wfH JHoododS TITR
HAMS P pHvEdodod.

(B) FD)S 3B oSBT 0k mod Pahd &8 (CSIR) H0P MadS aobds s
IS8 2018 v Fodod.

© 653 3ASS S0 PSS add S8 e Abs HHTH Srodod.

(D) Gahar o6 oobabEShnS pomrd HSEo DHoDS WD Diremr

33848 TB DOD0A.
Choose the correct answet : / SO STz 0D Wabhod :
(1) (B)&(C)only (2) (C) & (D)only
(3) (A)& (D) only (4) (A)& (B)only

Examine the following statements regarding New Development Bank (NDB) :
(A) China holds the maximum number of shares in the bank.

(B) The bank has no African nation as a member.

(C) The headguarter of the bank is located at Shanghai.

Srs BIOHHO 2rgosol 3020800 08 DIBRON (0TOD) HOFOOL0E :
(A) ezriobhds’ Bar BHo HoR Dopsd’ aréren O &od.

(B) (D5 PoaRs H020H0DS o argotd’ JEhioren .
(€ 2rgos %) e Sobo arowd aod.

Choose the correct answer ; / 8L aar2nd Jodbl Hdhod :

(1) (C)only _ (2) (B) & (C) only

(3) (A) & (C)only (4) (A)only

Examine the following statements :

(A) Norway tops in the Global Democracy Index 2017.

(B) Sri Lanka banned import of non-airbag equipped vehicles from July 1, 2018,

(C) India built the world's largest thermal solar plant.

(D) China sets 2018 GDP target at around 8.5%.

808 D3SO0 (@oTed) HOIDotos _

(A) SOSTHAD (D5 ArDE 2017 HGS0 B 0G0 Frdos @od.

(B) =B 1, 2018 HOA 2008 Jowd 2rifien B FHTTOD OHHSHE TWISaR)
eDRROB.

© Ddotsods 8D §515 Ferd ot gréstifo AdoT0b.

(D) * 2018 HoJ3S 508 [ar 8.5% 2.8.0.0 FLoTro OB IVOS.

Choose the correct answer : / SO aar20d ool Tabod :

(1) (B)&(C)only (2) (C) & (D) only

(3) (A) & (D) only (4) (A) & (B) only

Pil

[s] 42B
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132, Renowned social activist and founder of Sulabh International, Dr. Bindeshwar Pathak was

honoured in June 2018 with an award. Identify relevant statements from the following :
(A) He was awarded 23 Nikkei Asia Prize of Japan.

(B) The ceremony was held in India.

(C) The ceremony was held in Tokyo.

(D)} He was awarded 22™ Nikkei Asia Prize of Japan.

SEis A5 DESFO (sockal activis) HOED OB BOLSIISS Tk,
SESTHErBDTS o Dot B 8 2 2018 &' mﬁ oIPE daNoTrd. R0&E
RNOVOGHOVS DTS AAFErSo Bendod

(A) 23 % J¥cD (Nikke) 8Ddsr | 22 o 22rS & Hi8doorh.
(B) & 58550 a08dirsS 8 srotadod.

© g0 &S’ 20n00.

D) 223 DEdD esdair |2 6 33S & dEdoTrd.
Choose the correct answer : / SO 23720 o JODE Wchod :

(1) (©), (D) only (2) (A), (C)only

(3) (B), (D) only (4) (A), (B) only

Examine the following statements on 'Smart Cities Mission’ of India :
A.  The mission was launched on August 15, 2015.

B. The mission aims at strengthening urban infrastructure and give a decent quality of life to
citizens.

C.  Shillong, the capital city of Meghalaya has been selected as 100 Smart City of India in the
third week of June 2018,

D. The total proposed investment in the selected 100 cities under the ‘Smart Cities Mission’
would be T 2,05,018 crore.

eSS ‘0 2D AS' 080D $0d DSBBeS H8IDOSOA |
A, S AID 15 S estiap 2015 ot |rSoDoid.

B. H9m 708 (@IFom HFcired 5830 Jahdo WO e
eSS ARy D080 S oAS Sy, aliio.

C. 2018 2~ To Hrds Tdods roatdiy 100 & i b :barudi} oTATR
©oNS ol JohE JIahadod.

D. ‘% b aS 208 JobE Tcbhadd 100 Stiordd’ Swudo & 2,05,018 T

EPDAJ |HaIrS o
'Choose the correct answer : / OGS 22050 JoDE Tabod :
(1) B,C&Donly (2) A,B&Donly
(3) C&Donly (4) A,B&Conly

P11
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134, Which of the following jurisdictions are enjoyed by the Supreme Court of India ?
(A) Original Jurisdictions (B)  Advisory Jurisdictions  (C) Appellate Jurisdictions
Choose the correct answer :
(1)  (A)and (B) only (2) (B)and (C) only
(3) (A)and (C) only 4) (A), (B) and (C)
808 &8 HBALS st Hoho FH% D AT draryow 7
(A) RS () Jrde HEE HOH
(B) JHoddd)edHsdH0H
(C) Qi whHsd H6H

B B onE Babod
(1) (A) SHOG (B) S ehThy (2) (B) S00c (C) sorieddy
(3) (A) D80 (C) S @) (A), (B) 2dak® (C)

135. Consider the following statements :
(A) China inducted its largest mdsgmuusly -built transport aircraft named as Y-20.
(B) Pakistan successfully tested its laser guided missile named Barg.

Choose the correct answer-: .
(1) Only (B) is correct. - (2) Both (A) and (B) are correct.
(3) Both (A) and (B) are incorrect. (4) Only (A) is correct.

808 DaSGDON (woTa ) HoNdotiod

(A) Do Tio edios DE D82 Scird Jowb|isDE ¥-20 D D .>q; HTrRODOA.
B) >EFS dachlosomr HB800S Bab TS DRSE o8 @ .:r:‘.i:a 2iod,
DS 2T oD Wabhod ;

(1) (B) &S ebah HOTDA. (2) (A) SO (B) Bodr HOTAD,

(3) (A) HOCKD (B) Bodr SODADERY. (4)  (A) SMGSD HOPSA.

136. In June 2018 Kerala initiated ‘Water Literacy’ campaign to create awareness about the importance
of water conservation in the state, What are the correct statements from the following 7
(A) 70,000 students are involved. -
(B) Every student will campaign for 15 families.
C]Appmmnaulylﬁlakhpﬁuplcwﬂlhebcu:ﬁwdhmwmgﬂmmmufwm

prevention of water pollution.
(D) Itis mandatory in Kerala.
Choose the correct answer : :
(1) (A), (C), (D) only (2) (B), (D) only
(3) (A (B). (C), (D) (4) (A),(B), (C) only

2375 2018 &5 ‘D88 H020H008 L TNId’ 1HTOD) DaedS D T |ArSnpges,
DA SHJT T ®D DACTOD SOIMTS DOSoOHOSTRE B¢ 1D2heé g0
SR nGod. ADE HooHoD 08 S HOTDS HATETER), BenHosS :

(A) 70,000 508 dorihen aothd IS ot

(B) D8 Doy 15 Soeworers’ oSmirds SO .

© KoSrsd 10 us.u 08 1Huen odfroderd. HD orsor D& TnE) (Drdups,
~ES e 5'1 QT OO VG0 BencwTSch).

(D) B5¢ ood AN 853058 T,

DOTS A JodS Tabod :

(1) (A)(C), (D) Srehad - 2) (B), (D) Sredsdh

(3) (A, ®B),(C), (D) ) (A), (B), (C) &ri&h3h
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137. Which country will host the first military exercise of the BIMSTEC group focussing on counter

terrorism ? When is it scheduled & what is the purpose 7

(1) Bangladesh; September 2018 in Beijing; To promote peace

(2) India; June 2018 in Pune; To counter terrorism is the focus

(3) Pakistan; in Aug. 2018 in Peshawar; To promote harmony

(4) India; September 2018 in Pune; To promote strategic alignment among member states

5 T840 BIMSTEC D.90.05.00.8.2.5 yodoh addio aod. BIMSTEC 2ok &b

TN IS DTYD0. AO AiiTS0% (DB Fahah DATHVO0. DY S DTINO

DEgErosnthsod 7 AR Jneps aFio A ?

(1) 207BFS; DRooth 2018 & HAORS' adibeE0d; TS FoFroSOLR
ﬁlﬁ%ﬂ:ﬁmdnﬁ

2) @OASTS: uF¥ob 20188 RS aliTchos HAT sDoSLACS.

3)  ETSS Tl 2018 S DAIES" HpiSH DoFrodohers aFosadod.

@) =oAdrs’ Whond 2018 -8 FrES’ 260008 AFTre DG rprtdd
Do Dofrodochbish aFrodadod.

138. Which of the following statement/s is/are not correct 7
(A) India celebrates its “National Sports Day’ every year on 29 August.
(B) Dhyan Chand was the only hockey player who got Padma Bhushan.
(C) Arjuna Award is given for the best archers.
(D) Dronacharva Award is given for brilliance in sports coaching.
208 D3Smed (@orodHHoTAO/D DO/D?
(A) 2rssB¥o HB Hosd )80 29 efiip erach for AS'S 3o BOHRENOB.
(B) iS008 HEErAS rodd 88 8 orsdd.
© oS TP add Jevsodi avd.
D) o esds ads foiiHosh agd.
Choose the correct answer : / HB& H&rTarR) Qohs Wahod :
(1) (B) & (C)only (2) (C)only
(3) . (C) & (D) only (4) (A)& (B) only

139. Who has written the book “Conflicts of Interest: My journey through India’s Green Movement”
and who published it ?
(1) Salim Ali, published by Pearson
(2) Tulasi Gowda, published by McGraw Hill
(3) Ramesh Agarwal, published by Printice Hall
{4) Sunitha Narain, published by Penguin
eSE) 6D 20BY: B 28) 18 RAAFD |HS SrSTods’ e aof DR S
ED0TED 7 SO 2 Dhdotrdh ?
(1) SSowds HODH ed), |DHcose 58 DabBHS.
(2) SSond dwd M, |Hhdo 58 Dyrard.
(3) SN eforsd SHOSM, Dot Ird DHhdodod.
(4) Soder rdond SO, DO HbBodod.
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140, Examine the following statements about Gobar Dhan Yojana :

(A) The scheme was launched on April 30, 2018 in Karnal, Haryana.

(B) The scheme aims to positively impact village cleanliness and generate weelth and energy
from cattle and organic waste.

(C) It also aims at creating new rural livelihood opportunities.

Mol oS Bradh Sod vorod H8200kod .

(A) Sosrd'd oSS AHS 30, 2018 T & HEE0 |rBoDoBA0E.

(B) (mioe HOHBSD 1D2rSS SrddoSurenrr; HBhpen DB VOB Sigre
L08 H0HHS, R0SS0 HEM dd 8 Tahdo & HHEo ADTomr EPHod.

(©) |mioem 435248 Srad eldsTod Hynod of jof & HdHo HATRod.

Choose the correct answer /B 220 JonE Habhod :

(1) (A)& (B) only (2) (B) & (C)only
(3) (A) & (C)only (4) (A)(B)&(C)

141. In May 2018, RBI put Dena Bank under ‘Prompt Corrective Action' (PCA) which focuses on the
following aspects :

(A) Cannot sanction fresh loans

(B) Barred from recruiting more staff

(C) Cannot disburse loans already sanctioned .

(D) Dena Bank is first lender to face curbs under PCA
A o 20185 B ergoo (Dena Bank) & 8288 2705 |30 EBES AIrdS (D.A.W)
Db S Dardm 85 HOSS' o0, & 585 Bod DAdired’ BAD Soa Rddod ?
(A) T 200050 Moz Babord.

(B) Fdém aSiiyes $0Tchdo Andosadod.

© 2AISE 2000 o2 wondd) tndod anered Hohd (Dtse) Fabhordn.
D) - DS Dardies SO8 (Broy §BES rd Q) o Bar o 08 Dudsdd 2necremr $od.
Choose the correct answer : / H8TDAS BI040 JoDE Hobod :

(1) (A), (C), (D) only (2) (A), (B) only

(3 (B).(C), (D) only 4) (A), (B), (C) only

142. Indian Government launched ‘Gram Swaraj Abhivan — Special Interventions’ an outreach
programme. Identify the comrect statements from the following :
(A) The outreach programme is to deliver welfare schemes to select villages.
(B) The objective is to see that social harmony reaches to the poor.
(C) Doubling the income of farmers.
(D) Itis applicable to every village and it should be implemented immediately.
2 Beh | HZ0e 50 e D307 DArS- 05 20lLTNS)” i af HSoS 18 mod
Erdododod. H8 Howohod) od T8S’ HOTod dSrerdod hlotod
(A) & 0938565 HFroen (8sEerdom) AFFoD2AS (rire [FHabio)d aFPiod
) HHEoerd edentIcing,
B) A Ao ATH0 Ardral D)o et Byb.
©) Do morabo &rhedsyso Tatwe.
D) 2B 1D rSrdE aFT092A08 HEN HAA H sSor wen TArd.
Choose the correct answer : / /0D DAFETRR) Q00E Tabod :
(1) (B), (D) only ' (2) (A), (B), (C) only
(3) (A)(B), (©C), (D) (#) (A), (C), (D) only
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143.

144,

145,

Examine the following statements :

(A) Roger Federer, tennis player, reached the men's world number one ATP ranking in tennis
after winning his 98" career singles title in May 2018.

(B) He defeated Rafael Nadal in the Stuttgart open final held in May 2018.

(C) 36 years old (As on May 2018) Federer born at Basel, Switzerland.

208 D38RON (@oFred) H87Dotsod :

A) BNR Earsdhd Hub DESE &5 98 S5 B85 BoAS) LBSH H 2018 &
Aenchshd, B DS HHHO 1Hdod Soab 1 ATP orgolofidn Ardor,

B) 2018 S 20AS JHT LS IS ArSS' 50 SorSh DESE LAdoTr.

(© 36 HodSyore F, 2018 38 DAGE VYT 0SS LRSS’ 200erd.

Choose the correct answer : / DTS 2Baran) JooE Fabod

(1) - (B) & (C) only (2) (A)& (C)only
(3) (A)(B)&(C) (4) (A) & (B) only
Examine the following statements :

A. Gujarat Forensic Sciences University (GFSU), Gandhinagar is the first Indian university
dedicated to forensic and allied sciences.
It was established under public-private partnership.
J.M.Vyas is the Director General of the University.
The University was established through an Act passed by the Gujarat Legislative Assembly,
dated 30" September 2008, .
However, it became functional from July 2010.
08 D3GR (wore ) H0vdotod :
VDT DO ©HD0S PAOH ©osSDI DAY LB rsaad
DD goaH 0BorS PFOANE DTS AhrdSo ¢, modSns’.
B. |50 - DS ariiRrsngod’ & D sdorgedbo yrhodadod.
C. M. argR & DY Do iedirds BoED 23558m aary .
D. 250208 30, 2008 & HeonS T S2isS’ c58y0 Taheho o som & clarss y40 Frdoorh.
E  eond 208 2010 &od & chrdssd Hdabdo @rdododod.

Choose the incorrect statements : / DOER IS0 JOBE TADHOS :

@ OowW

>

(1) A,C&Donly (2) B&Eonly
(3 ABCD&E (4) A,B,C&E only
Examine the following statements : :

(A) Total number of gold medals won by India in the 2018 Commonwealth Games is 26.

(B) Polish author Olga Tokarczuk awarded ‘Man Booker International Prize 2018°,

(C) Total number of medals won by India in 2018 Commonwealth Games is 64,

(D) Pellichupulu won the best Telugu film award under regional category in the 65® National
Film Awards.

808 wored H03Dotod :

(A) 2018 550338 408’ rssTiic Tndo 26 oM HEFOD Aehfod. .

(B) &Bos SSond ®ond L& SEDHIEH ‘SrSmid sodach eI 2018
sodTabadod. : :

© 2018 590558 84S oroatifo Indo 64 HeéTO AenthTod.

@) 65 S XS D6 exr)s Poddd Jariod ) dren’ Do add

QS o e Ravchfod. .
Choose the comrect answer : / DS 23200 Q0DE Tabod :
(1) (B) & (C)aonly . (2) (C)& (D) only
(3) (A) & (D) only (4) (A) & (B)only
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146.

147.

GET IT ON
Google Play

Note ; In questions 146 to 149, a sequence of numbers or of letters of English alphabet or of both
following a particular pattern are given with a blank. You have to pick up the correct choice from

the four options to fill the blank without disturbing the pattern.

BPSS : 146 0A 149 JEK o |DF) 0" Hopiw eHEDHOMR), Bor woll wisdre
S0 wEoe eMNEDO MR B & DoAcAS 5rds eEomD 8 1HHEE HPD

2 .6 1
200, 1665, 1425, _____, 111g

(1) 125

@ 2%

MGIX, LFHW,KEGV,__. ICET
(1) IDUF 4
() JUDF

VISLWI6G, X9E, __ 2 Z1A
(1) YAC
(3) U4cC

- b '
149, 7,19, 37, 61, 127

(M 111
(3) 91

(2)
(4)

(2)
(4)

(2)

(4).

(2)
G0

150. The missing term in the following picture is :

& 800 HrAnes’ S'HoDS HEJ :

115

135

JDFU

wW4cC
Y3cC

101
121

(1) 120
(3) 250

(2) 240

(4)

60

' BAHOOD Ay ow. 8ot 2.8 grd a0d. & Y Jroowerds 8o ad )N Treuld
20158’ £SO Hoo BRom .8 o) JoDE TWasrd.
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151. Given that 25% April, 2012 was a Wednesday. Now, match the days of the week given in List —
IT to the dates of that year given in List —1I:

List-1I
(i)  29™ June
(i) 15" January

(iii) 11® December
(iv) 25" October

(a)
(b)
(c)
(d)
(e)
()
(®

List - IT
Sunday
Monday
Tuesday
Wednesday
Thursday
Friday
Saturday

2012 & HoNSHBS JDHoHS 258 BH 20880 B T, VDI, @ Hossysos

D - 16" ad)S BOOS' 3D)S oo erder -1 & 2stiobhod,

adDer -1
(i) 2529
(i) 22383815
(i) Ao 11
(iv) @S2 25

(a)
(b)
(c)
(d)
(e)
49
(®

Do - 11
adHTC0,
Soado
ORI GO
20HITO0
hdarso

. Do
4300

_ 'Ihecune:tmﬂ:hingia:!ﬁ'aﬂl@ﬁﬂ'ﬁ:
() i) () dv)

(1) b a c e
2 ¢ e d f
@ f a ¢ e
4 d e b a
152, The time between 7:00 to 7:30 such that the hour hand and the minute hand of a clock are
perpendicular to each other is
‘W BArGoS” 700 Sood 730 HGS' Aere Soew, fote Svew STAEEe
S0 ol Hddbo
8
() 7227 (2) 7257
® 720 @ 7217
153. The next term in the series : 3, 6, 18, 90, 630,
\#ed 3, 6, 18, 90, 630, &' a0 8 Hddw
(1) 5670 (2) 6670
(3) 5970 4) 6930
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Note : In questions 154 to 157, you find a question (Q) followed by two statements (S, and 5,
You have to determine whether §; and S, can answer Q. Mark your choice as
(1)  if 5, alone is sufficient to answer Q.
2y if 52 alone is sufficient to answer Q,
(3) if S, and Sz together only can answer Q but neither 8, nor S, alone can answer Q.
(4) if $; and S, together also cannot answer Q and additional information is needed to answer
AP : (DA 154 D08 157 ©F 1 2.8 (DF) (Q) 7 Tod Bodd HIV e (S,
SOy §,) drdaith). & §, 5, © Hod Q § JArEdo Tay )T vl
RFgoord. Q 8 Jarerdo aderdl
(1) 5, 8% H008 2 o (1) B,
(2) S, 28T 008 o so2w (2) @,
(3) 5,8, w0 Bodr DD HONEr, TBS D 25 ST B0 b srw ) ®
@) 8, 5, & Dok SOV, N0 Tod BASY JArTBHING0 wawd, D 2o (4)
&) hiomd, A
154. Q: Forintegers''a” and ‘5" is a + b an even integer ?
S, raiseven. '
S, : bis g multiple of 6,
Q: Se0 ‘8’ b’ 50 a + b 2.8 DO Tossr ?
S, : 238 Jop;.
S, 1 b wTA 6 Tns; hdzo.
155. Q: Whatis the average of a;, a,, 8, 8, and ag ?
S| : a;, ay, a4, 8, and ag are consecutive integers.
S, :ag=100.
Q:a), 8y 8, 8, a8, SOWO Joé 7
S| 1 ay, 8y, 8y, 8y, 85 €0 SO PTOSTLD.
S, 1 ag = 100.

156. :Is xy=uv?

{x % ofu) =(y % ofv)
(y % of u) = (v % of x)
XY = uv @ayedo 7
S x %)= (v Fﬁ‘*&%:'

uS y R = (xS V%)

157. Q: How much money is there in the bag which solely contains 50 ps, 1 rupee coins ?

: Total number of coins is 521.
: Twice the number of 50 ps coins exceeds that of 1 rupee coins by 127.

: 50 2R, 28 Sraron S HoS SMEDh DY 8 5odE'D Sod ?
: Bodo e Hopg 521.

: 50 206, DT HoKHis Do), Sraraw FFO Jopyg ES) 127 8oy,
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Note : Study the following table which gives the production of two types of vehicles by an
automobile company in five years. Use this to answer the questions numbered 158 to 161.

= ArSd 28 eSTPS SoR @d)8 TR Dol ISU TUTTY JoPs, D
RHOSS T O JoBOMONS NITLN BDD 1808 HBEH ePHiahdo Fohod. &)

AAATHO 158 o) 161 HSS5H He> |HF ) o8 aarandeiny.
Year/Sodé 8o
Number of
Vehicl _ 2012 | 2013 | 2014 | 2015 | 2016
(in thousands) ! : '
| ardrare Hopg fd\uf ) _ :
: Type A 169 1126 |96 |14.8 | 16.1
Type B : 254 18.8 11.2 | 16.2 | 184

158. By what percent the vehicles of type B produced are more than the vehicles of A in 2014 7
2014 &' 81D wanS B S0 IO Jopg o Hosésods nréagl:nn:ﬁ A G%o
TP 0PI DO BTEC JF) T

O 152 @ 164 @ 173 @ 143

159, The ratio of number vehicles of type A produced to that of type B in all the five years is
065 50568 708" & 18 SO A TIRO HoR ST, B S50 e Hopisr e D)8
(1 2:3 2 7:9 3 9:7 @) 3:2

160. The percentage decrease in the production of type A vehicles in the year 2014 to that in 2013 is
2014 3 HodS ) G0S' #8718 eond A G50 STTO Jops 2013 &' 818 sand o

d%0 e dogsd dnd rdo |
1 21% @) 193 (3 18 @ 23
161. The total number’of vehicles ced by the company in the year 2015 is
2015 5 HoSh S80S SOl dreb )8 éﬁ:;& Ao e Homs
(1) 20800  (2) 31,400 (3) 35.500 @ 31,000
162. On 8® February 2018, it was a Thursday. Then, what was the day on 8% February 2017 ?
(1) Wednesday (2) Thursday (3) Friday (4) Tuesday

B (2230 2018 & MHAIFB0 DI 80, 8 DRSO 2017 & wonS G
(1) 2T (2) HhHardsn 3 DHETSSD (4) Softards

163. The average weight of three persons P, Q and R is 52 kg. The average ‘weight of P and Q is 45 kg
and the average weight of Q and R is 48 kg. Then, the weight of Q is (in kg.)
S0P Ss8hen P, Q HOGD R @ Hifen 2y 52 85" |rawen. P SHH0cin Q © Hifen
G 45 85" |ranen. Q HB8dIL R © JHfen 2tHy 48 88" rinen. olth, Q S,
2HY ES rinedh)
(n 36 (2) 44 (3) 48 o {4 30

64. A train travelled at an average speed of 100 knvhr, stopping for 2 minutes after every 75 km. The
distance travelled by the train is 750 km. The time that the train takes to travel this distance is
(1) 7 hours 26 minutes (2) 7 hours 10 minutes
(3) 7 hours 12 minutes (4) 7 hours 48 minutes
2.8 Den Sfidn Fto (Da Hodo 100 8.2, (HATDY, D8 75 S5, &rdo Soh Bodh
Adbddven @HSod. & Den Iodo 750 L. Srdsw 1DHArSNOD. & &Srdo
DSOS & Ben S:0503) Do%S0 .
(1) 780.26Q. (2) 780.10.

(3 T80.12. (4) 7 H0.48 .

1 [s] 51.8
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165. In a code UFBDIFS stands for TEACHER, then the code word for PARENT is
2.8 €8 o7&’ UFBDIFS &35 TEACHER D Hrd)Q, @ 27365’ PARENT 8 886 5¢0

(1) QBSFOU (2) RBSENU (3) QRAESU (4) QSBOFU .

166. In acode language BHARAT is written as GZIZSY; and INDIAN as MZRWMR. Then, the code
of POLICE in that language is
o8 ¥5 oraS' BHARAT Q GZIZSY m, SH8cn INDIAN 2 MZRWMR S |Sar,
e & g2 S’ POLICE &g, ¥4 AR
(1) VRXOLK (2) VXRLOK (3) VXROLK (4). KLORXV

Note : In questions numbered 167 to 170, you find a pair of words or numbers or letiers or a
combination of these which have a relation between them and a word of another pair. Identifying
the relation between the words in the first pair, you have to pick up, among the four options, a
word which has the same relation as in the first pair with the word given in the second pair.

BrSeS ¢ 167 HoB 170 I565 fo (Hiyod’ o8 Jonodho &9 2.8 28 Doren, T
Howen TE wioren B5 DS 088 5rdS aden, ®tns08 HTE 28 SR .8 Hdo
SrASTR). Fcded BSdTre S DooETR) Hiod, Bod ads’ adyd Hos «F
Honodo (DS HEPR) ADYS TN DOYTE oD 2.8 T HodE Jaird.

167. DOCTOR : DISEASE : : SHERIFF :

(1) CRIME (2) DUAL WAR
(3) MURDER (4) THEFT
AN 1 Vo {1 To R e - S
(1) Mo ' (2) &god dwdo
(3) arebg (4 &Soliéddo
168, 20:21:: N -
(1) P 2) O
3) M 4 Q
169. RED FORT : DELHI : : ROCK GARDEN :
(1) CHANDIGARH (2) CHICAGO
(3) BENGALURU (4) AGRA
AT : D E DS
(1) Sobnd @2
(3) SohErd 4) e
170. AXE : WOOD: : SCISSORS : ol '
(1) CLOTH - (2) PLASTIC
(3) IRON (4) PENCIL
RO 38588
1 2% | 2 FY8
(3) 2D 4) DA
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171. Match the following :

List-1 List - II
(a) Vicar-ul-Umra i Purani Haveli
(b) Kamal Khan ii  Falaknuma Palace
(c) SalarJung-I iii ~ Diwan Devidi
(d) Mahboob Ali Khan iv  King Kothi
$08 3D BSHSHSW ;
arder -1 aDer -1
(@ E-S-dh i ROR IO
B E0d S i POl drdr B
© rerbzofi-I i A>SHENA
@ Fard ed grd © iv  SofiFe

The correct match is : / HOFZS 23¢h :
(@ @ @ @ '

(1) v 1i iii i
(2) i iv iii i
(3) iv ii i 1i1
(4) i iv i i

172. Match the following officials and their duties in Nizam administration :

List -1 1 List - 11
(@) Deshmukhs N i Revenue Contractor
(b) Sarbastadars ii  Revenue Collector
(c) . Sadr-us-Sudur iii  Civil and Criminal Administration
(d) Quazi-e-Subah iv  Eccliastical Department
Bodte Qero Trodd'd 8oTHodk, T8 GATT O 23eDETDSD :
ader -1 erdDer -11
(a) SFSoden i DD&Tg smolerEs
®) SbSanod ii oDMATE KBS
©) RSE-aR-0chd iii DS DB 0I5 Hored
(d) grz®d-doaror iv GOy T

The correct match is : / DO 2366 :
(@ () (© (@

¢V T R S
@ i i v
@ i i v
@ i @ i v
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173. On which date the “Telangana Sayuda Porata Committee” withdrew its armed struggle 7

(1) 21* October, 1951 (2) 4* August, 1951

(3) 20* Jenuary, 1951 (4) 15" December, 1950

“Berorre Aaind Moves SN 88 s Hoverd) D BAS DSOS ?
1) 21 eF2, 1951 @) 4 en%, 1951

(3) 2023538, 1951 4) 1540, 1950

174. WhendidmeﬂizlmguvmnemﬁﬂmebﬁanyMSma?

(1) March 1946 (2) June 1946

(3) July 1946 ) (4) February 1946

=pdéorared RS SOl DG ADoR), Do (Db J0 Jath Sohodod ?
(1) Sr8) 1946 (2) 2mS 1946

(3) =B 1946 @) (D205 1946

175, Quazi Abdul Ghaffar, whoyapoﬂedﬂ:ﬂlndim:nvmmmtahuﬂtthemuminﬂfdmhad
State after police action, worked with which of the following newspapers ?

(1) Raiyyat (2) Imroz
(3) Hyderabad Chronicle | (4) Payyam

ST DS FON 96 ws0sE0 2O SNSLTIETR) O |HZHE DS
BOBHBDS 3128 w2 55 DELS) 1808 O HBES' HBDTD 7

(1) Daobé | 2 =@
3 oerd eSS 4) Jrdhd

176. Mahalga Bai Chanda was a famous court dancer of which Nizam ?

(1)  Nizam Afzal ud daulah ~ (2) Mir Mahboob Ali Khan
(3) Osman Ali Khan (4) Nizam Ali Khan

D dero Fwod Hfoszron oo oves SE8r Hold ?

(1) Qero DS ol Ter @2 D8 LrarS ed DS
3 amSedypS @) Do wdpS
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177. Assertion (A) : A gentlemen’s agreement was signed between Telangana leaders and Andhra
leaders in February 1956 to merge Telangana and Andhra.
. Reason (R) : Accepting the merger proposals, Andhra Assembly passed a resolution on
November 25, 1954 to safeguard the interests of Telangana.
The correct answer is :
(1) Both (A) and (R) are true. (R) is not the correct explanation of (A).
(2)  (A) 1s true, but (R) is false.
(3) (A)is false, but (R) is true.
(4)  Both (A) and (R) are true. (R) is the correct explanation for (A).
IDEJES (A) : 1956 & DSBS Boomrs, wod |rodsved ddso Fobarns
Dol |Zrosre AraDSoe 008 2.8 "W elidpey 2508550 508808,
520 (R) : DI HBIrI0S wolEBr eold TH PIS D8 1954 DoSS 80
SS0H 255 Boorn |H2O BIHTON S S5 5DI0SEOE HoN0DS.
BTala AT N N To
(1) (A) DO (R) DOdrr assw. (R), (A) 50 DS D338 2.
(2)  (A) DasD S, (R) Sy,

(3)  (A) &3y 5, (R) Qasadw.
(4)  (A) 0BT (R) Bodor dasain. (R), (A) 0 5D DSdes.

178. Identify the pair which is not correct :

(1} Telangana Vanchana Dinamu — 22 April 1969
(2) Telangana Pathaka Dinamu ~ 12 July 1969
(3) Telangana Porata Dinostavamu ~ 7 March 1969
(4) Telan Korikala Dinamu - 1 May 1969
1808 ¢3S" I HOTS =& & th8ohhsw.

(1) Soors 3008 O3S - 22 DS 1969
(2) Soors derE HdSD - - 12278 1969
(3) Soorrs Hfordd HSE S0 - 7378 1969
4) SBoore Foko HSR - 131969

179. Which one of the statement is not correct regarding Boodhan movement in Telangana ?

(1) To distribute the gift land collected under Boodhan movement Vinoba Bhave established
an association called ‘Boodhan Yagna Samithi' and Ummethala Keshava Rao was
appointed as its Convener.

(2) - The second trip of Vinoba Bhave started in 1954 from Ramannagudam of Khammam District.

(3) To support Boodhan movement, the students organized a procession and also held a
meeting at V.V. College on February 6™ 1956.

(4) Acharya Vinoba Bhave started this movement and started his tour of Telangana from
Shivarampally village on 1951, April 15%. -

1808 [HSVT S Boomerd' FrorS @t jardd H020000 HOSIO IO ?

(1) FEroS adeEho orfor DEBODS L0 b0 THdolos oS dhg Hha!
®FT H0PH PO A0S TII0H0 EQ 58586 JchDoord.

2) dSererd Dodd Frerd @i dirle P o AW TRDS)ITEO Dod 1954 &
ardodord. ’

(3)  FreS SSiaral o DS, 6, 1956 & dorsden 8 MBAOHD 26D D.D.
oB2 aS528 22500 DD DSsSroT.

4) & ASrD) erd) DSererd DrdoDorrdn. 15 ADS 1951 & edhdS FSooDHd
ol Boorn HEiS |ardodord.

P11 [s] 55-B



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

V-

llowing authors with the books they wrote :

List -1 List-11

(a) Allam Narayana i Telangana Jaitra Yatra
(b) Ghanta Chakrapani ii  Pranahita
(¢) N.Gopi iii ‘Salam Hyderabad
(d) P.Lokeshwar Thangeti Poolu
S0 Ssoneen, 70 csﬂsma‘ 23eh B S0aS0.

wdé -1 adé -11
(a) &0 oodhe i desorr B cirS
B Doty HErd i |larEaoTed
(€) =S A/ fii  Sero IrSOArtD
d D.SFI0 iv  Sofed rew

The correct match is : / OO 236
@ @® (@© (@

1) i @i i v
2 iv H @ i
@ i i v i
@ i i v i

181. Match the following persons with the places of their martyrdom :

List - I List - II
(a) Yadi Reddy i Shastri Bhavan, New Delhi
(b)  Sri Kantha Chari ii  Ambedkar Statue, L.B. Nagar
(¢} Yadaiah m 0.U, Campus
(d) Ishan Reddy N.C.C. Gate
1808 &0 D, TS ms:-masa St e hciadn.

aDer -1 Do -1

@ oroBd i TR PSS, Srpod
(b) 3IFod >0 i 0G5 T, 28D, S8
() Cirdobs i A.0%0. oS0
d) 2arS o iv 8.0, 05

The correct match is : / SO 2368
(@ @® «

(1) 1 ii iv iii
(2) ii v ii i
(3) iv 1 il iii

@ i i iv i

182. On which date Telangana Praja Samithi decided to change the scope of its organisation from non-

political to political body 7 ,
(1) July 1970 (2) May 1970
(3) April 1970 (4) June 1970
Boomrm (e JB S5 HoPD 2Dt 2.8 oraldd SoPmr HEB0DH ?
(1) &"81970 (2). 31970
@) DS 1970 ] (4) 751970
Pl . S 56-B
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(1)
(@
(3)

(4)

GET IT ON
Google Play

183. Which one of the following statements is not correct ?

Article 3 of the Constitution Parliament may by law form a new state.

V. Narayan Swamy was a special invitee for Group of Ministers (GoM) .

On July 20®, 2013 Congress Working Committee passed a resolution on creation of
separate Telangana State. .

On July 30® 2013 the Congress leadership constituted a committee headed by
A. K. Antony to talk to all Congress ML As and MPs from the State to explain to them why
C.W.C. had passed the decisive resolution on Telangana.

$08 ADIS FipSS DA HOTHIS 0 7

(1)

(2)
(3)

(4)

ef¥S 3 |Osddn rdocud T c-m.;ﬁ::ue&: QO Tobhard
a5 Ga00tnod.

UrD &D IPE) (GoM) 5 D. TOGHEHRP LM 1D 8 el DSk,

1585 Boorad hﬁ;ﬁtﬁﬁm o SN0 LTE SGo 2B 20, 2013 &S ¥
Sossm Bhoad.

SO0 Qe e HOC I o SoR SHN0 LTS ::.:;-o B0
dachod’ Dot APcho BuHod IIBoSTIE sofft FabEsio D3
©0&E"D S SS 2.8 SR 7B 30, 2013 &S ACHDODOA.

184. Match the following political urgamsaﬁons with the names of the founders :

(a)
(b)
(c)
(d)

List ~1 List - IT
Nava Telangana Party i Indra Reddy
Telangana Sadhana Samithi ii Nagam Janardhan Reddy
Jai Telangana Party iii  T.Devendar Goud

Telangana Nagara Samithi iv  Ale Narendra

& 1808 orafoh HoPen, TER FDODDS TOD BEHS DS,

(a)
(b)
(e)
(d)

wDer -1 Do -1
o) BOOM™R g e =OIT BY
BOOMED S A i o sods Be
2 8oomrs rf iii &8 HJosS TS
BOMre S5 S iv a8 380l

The correct match is : / OO 2368

(1)
(2)
(3)

4

@ ® @@ @@

ii i iv iii
iv i iii i
i iii iv i
i iv i ii
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185. Match the following :
List -1 List — IT
(2) Baindla i Jamidika
(b) Budabukkala ii  Dhamaruka
(c) Padmasala: ili ~ Sadanasurulu
(d) Koyas ~iv RelaDance
1508 e adDHS .
List—1 List - I
(8 (Bod i BDAE
() dand)e ii Gedtoso
(© DO i OS drthen
@) SaHeo v Ber Syegesn

The correct match is : / O 2368 :
~ (@ () (¢ (d)

(1) ii iv ii i

@ i # i v

3 v i i 1ii

(4) i iv i iii

186. Which of the following statements are correct ?
(A) B.S. Narayana Rao directed the film Nimajjanam.

(B) Shyam Benegal was the producer of Nisﬁamh.
(C) Oka Oori Katha cinema was directed by Mrunal Sen.

(D) Maa Bhoomi cinema was directed by B. Narsinga Rao.

1E0d oS’ HBS PHISTHD ?

A) DIHTochs N RENFPI0O VRS A 80ck.
B) Ao DAST Do T50 BIAS.

(©) 2.5 0 56 DDST &S 80 Sy dS .S,

(D) s ZraD' DRST S58350¢ D). SER0H T,

(1)  (A),(B)&(C) (2) (A)&(B)
(3) (B1& (D) @ A&

GET IT ON
Google Play
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A

ARH35ich the
' List -1 List-II
(a) Ikat i A dance form
(b) Teez ii Festival of a tribe
(c) Paya ili-  Technical knowledge of colour printing on cloth
(d) Perini iv. A special dish/soup of Hyderabad
E08 3R 238 DS S,
wDer -1 aDer -1
(a) =58 i 2.8 Syd8g Srdo
b 8 i a8 NO2S B Dok
() S;ah i PO SoMen of ArolBE HAYTWo
@ OB v ErSoarcus TodS . (HasE Sobdo

iﬂowing :

Thtmnmmhiu:f%maé:

(1
(2)
3)
(4)

iii
jid
i

iv

1

ii
iv

i

i

iv

iii
i

188, Match the following :

(Temples)

Keshavaneni Temple

Taraka Brahma Temple

Sitaramaswamy Temple

Ramalingeswara Temple

1508 IR 258N,
(BOAHSHLY)

S FD eedHsw

BOE |20 sodhadw

SHEr TR eecHSD

SO0 56 socbhsn

The correct match is : / HOTeS 23¢8

(@ ® @ @@

(a)
(®
(e)
(d)

(a)
(b)
(c)

(d)

(1
(2)
(3)
(4)

i
ii
ii
1

ii
it
i

v
iv
iv

@ ® © @

v
i
ii

v
i
ii

s

iv

(Places)

Dichpalle
Nandi Kandi

(e Y Saen)
Homaydaiun
sood
ASHD
~od S0d

GET IT ON
Google Play
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189, Consider the following staternents and select the correct answer :
(A) During Satavahana rule agriculture was the main source of the income.
(B) Half of the agriculture produce was collected as land tax.-
(C) Early Satavahanas followed Vedic religion.
(D) The later Satavahanas patronized Buddhism.
1208 P HOVD0D DD DAFEFSEDAD M ¢
(A) TEIFTHO 5005’ SISV CH0 BErArRS |HETS Berdo.
(B) SpSdrad dres 8¢S Htfo 25000 I Sdren T,
(C) & rdairden O HEQ) 080T,
(D) OO raéFhen I Plard) SFaord.
(D (B)&(C) (2) (A)(C) & (D)
(3) (A).(B), (C) & (D) 4) (A)&(B)

190. Assertiom (A) : Satavahana socicty was patriarchal in nature.

Reason (R) : Some of the later Satavahana rulers used their mother name as prefix.

The correct answer is :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2)  (A)is true (R) is false.

(3) (A)is false (R) is true. .

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

BSOS (A) : TSIIG Sdrao Deby Ay & 2rSa EDASS.

roedw R) : FodHod DTS Twrww S WK Swoth SO DS
asdirfoo.

RAOTDA AATEFH0 :

(1) (A) 0G5 (R) BOAr 20, 5% (R), (A) 50 DBS DSea T,
(2)  (A) D20, (R) Sy

(3)  (A) S3y, (R) dazso.

(4) (A) HOA (R) Bodkr D220, B (R), (A) 50 DDA DSden.

191, Maitch the following : .
(a) Nanaghat Inscription ' i Pulomayi II1

(b)  Nasik Inscription i Kharavela

(c) Hathigumpha Inscription iii  Naganika

(d) Myakadoni Inscription iv  Goutami Balasri

1208 e8D 2SDHe5e5) ;

(@) Aardd TS0 i Sarthes e aron

(b) TREFTDS0 i sde

(c) S'AMHOP TRNO TS o 4

@ SrEE TdsSo iv e arol
@ ) © @@ :

() iv o E i i )

(2) i i il iv

(3) i i iii iv

(4) i iv ii i
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194,

(A)
(B)
©
(D)
SISO HOBOSOD 1§08 TEFTDR HOTOOD DS DS EIND EOMOS :

(A)
(B)

GET IT ON
Google Play

e following statements with regard to Kakatiyas and select the correct answer :

Agriculture was the main profession during Kakatiya rule.
Forests cleared and new areas were brought under cultivation,
Land Revenue was collected both in cash and kind.

Irrigation was not given importance.

SEHANO SO0S" SIS ADHO DG 398,
©BIOD HO8 Arddd (@rodrechd AHS DE ST K.

(C) 2o BRYH0 &S, g Srhm Saren Fabdo 28808,
(D) D8 PEHEOB (R0 29575,
(1) (A)&(B) ' (2) (A).(B)&(C)
(3) (A (B), (C) & (D) (4) (A)only
Identify the correct pair ; .
(1) Thousand Pillar Temple - Ganapatideva
(2) Padmakshi Temple - Rudreshwara
(3) Chitrasala — Machaladevi
(4) Ramappa Temple — Rudramba
DD B8 HBOSOM ; |
(1) Jow Jozre Ha - Hade Za
2) domi Breocho - SoEH sk
(3) Qe - Ardolia
@) ohd)Borocho - Son
Match the following :
List -1 List - II
(a) Motupalli Inscription i Ketana
(b) Chandupatla Inscription ' il Rudradeva
(¢) Nitisara iii  Ganapatideva
(d) Andhrabhasha bhushanam iv Puvvula Mummadi
£0d o8 2853050 :
aDer -1 Do -1
(a) Btad raso i geheS -
() SothHt) RS0 i S Ty
(¢) dadrdso iii e Hydo
(d) @804 arar Frieo v aedse SSweidd
(@ @® @ @ :
(1) iii iv il i
(2 iv i i i
(3) ii i iii iv

(4)

i ii iii iv

P11
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195, Consider the following statements with regard to Qurubshahis and select the correct answer :
(A)  According to Tavernier there were twenty thousand prostitutes in Hyderabad city.
(B) Land Revenue collection was auctioned.
(C) The Puranapul was a model for a bridge in London.
(D) Abul Hasan Tanasha granted three villages to Rama temple at Bhadrachalam.
S rrof Howodod (1§08 SO H0%0D0D DDA DITLFSS0D

Sroffrdoada :

(A) &30058 Bsso mm Stidods' athson Sosod Jdgen o,

B) ZHr 3 SHrend Foo ID

(€) ©odS &' 2.8 S0\ au-a-;:pﬁ &8 S,
D) o8 TS waer FHoSooS'D TrEnd Boodirdd Srd Mares o

Tatho.
(1) (B)&(C)
(3) (A)(B)& (D)

196. Match the following :
List-1
(a) Kollur mines i
(®) Hyderabad city ii
(¢) Kancharla Gopanna i
(d) Kshetrayya iv
1206 SrE8D 2DV ;
Do 1
(a) Sard fcden i
(b) Erdoerdh Stido ii
(©) Sousg ANS) iii
(@) Hsabs iv
The correct match is / DOTTZed 23eb
(@ @® @ @
(1) i i i1i v
(2) ii iii i iv
(3) i i iv i
(4) il iii iv i

197. Arrange them in chronological order ;
(A) Ibrahim Qutubsha
(C) Mohammad Qutubsha

(E08 28D serd| KXo D)W ;

(A) =2aro HSr
©) BodrdoyS SocoSr
(1) (A)(C), (B), (D)

(3) (D) (A), (B), (C)

(2) (A), (B)&(C)
(4) (A)&(B)

List - 11
Movva
Kohinoor
Mir Momin Astrabadi
Dasarathi Satakam

adDer -1
S0
gordrS
8 DS wHrd
EGEH $850

(B) Abdulla Qutubsha
(D) Jamsheed

(B) eo2er Soebn S
(D) a=on&
(4) (A), (D), (C), (B)

P11
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198. Identify the following statements which is not correct ?

199,

(1}  Basheer-ud-Daula was the minister for law during Mahaboob Ali Pasha reign.

(2)  Salar Jung Museum was opened to the public on 16 December 1951 by Pandit Jawahar Lal

Nehru,

(3)  Raja Bahadur Venkat Rama Reddy was the Police Commissioner of Hyderabad.

(4)  Ali Nawaz Jung was the Chief Engineer during the reign of Nizam Ali Khan.

1808 ¢3e5" HOTR DSBSV MBohe ;

(1) Srard edar Fos rood’ ohs-al-Ter ojohrp Hod.

2) &b 2ol durgpahodd 16 ARont 1951 & J0A8 23535arS I lShaes
Roddrgo Brdodotd. .

(3) Craudrel SoSLTErde rdorertd O SHAIET HITFT DS,

4 ©d S 2off 2ro ud IrS o sroos (BBEG BoaHD,

Maitch the following :
List = 1 - - List - IT

(a)  Aghornath Chattopadhyay i Gloria High School
(b)  Afsar Jung Bahadur ii = . Madrasa-i-Ailiyas
(c) Salar Jung I 1ii  Asafia High School
(d) Syed Hussain Bilgrami v Madrasa-i-Aizza
808 S8R 88D ;

ardes -1 aDer - 11
(8) PGP IS i  feds e
b @5 =0l arsrS T -2 e dair
(€) 2,858 arerd 20k i esRpAlr 2rard
(d) DDl sTun S Her iv  SrR-a-or

The correct match is : / ST 236
@ (b @ (d

(1) i iv i iii

(2) ii iv ifi

(3) ii ii iv

(4) i A v

[T T .

Which one of the following statements is NOT correct ?

(1)  Muzafar Jung gave the title ‘Nawab Zafar Jung™ to the French Governor Dupleix.

(2)  Muzafar Jung was killed by Arcot Nawab Anwar-ud-din.

(3)  The Northern Circars were handed over to the French in 1753 by Salabath Jung.

(4)  After the death of Nizam-ul-Mulk Asaf Jah his son Nasir Jung became the ruler.

1§08 (DSBS’ DA HOTSO ¢ 7

(1) <0250 z0h (Hod HS8)Sowd dash “Savel 258 208" ©8) HHD HosSD
@R,

(2)  Sozdb 20l oD S, 698 51508 BoD.

(3) 1753 Dod8)508" Herad 20K &rdd HoYHOD (DODTEE 5B DI,

4 Qo &f S @I & HBETEOSE0 0D HoSrdots s 2ol o2 5.
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Question Paper Booklet Question Paper Booklet Note:- D* indicates that the Question
Codewise Correct Answer Codewise Correct Answer has been deleted and all the
QNo.| A B C D QNo.| A B C D Candidates whosg OMR Sheets have
121 3 1 3 3 161 2 2 3 3 been (_avaluated will get Mark for the
Question
122 1 1 4 4 162 1 1 4 1
123 3 4 4 4 163 3 4 3 3 If more than one Option /
124 3 1 1 2 164 3 4 1 3 Answer is shown with comma/_s in
between then any of the listed
125 2 4 3 2 165 1 1 e 3 Answers will be awarded Mark.
126 2 3 3 4,0 166 1 3 3 3
127 1 1 1 2 167 2 1 3 4 Option ‘0’ (zero) designates
No Answer.
128 1 1 3 2 168 1 3 4 3
129 2 4 3 4 169 4 i 3 1 ‘Any’ implies that all Options /
130 2 1 1,0 4 170 2 1 2 3 Answers except Option ‘0” will be
131 4 4 1 2 171 3 2 5 5 given Mark.
132 2 2 3 4 172 4 1 4 1 Those Cells highlighted in
133 1 1 1 2 173 3 1 3 2.0 Light Pink Colour denote the changes
134 1 4 3 4 174 2 |230| 2 4 from Preliminary Key.
135 2 2 1 3 175 1 4 3 3
136 2 4 1 3 176 3 4 2 4
137 3 4 4 3 177 1 2 3,0 3
138 1 2,0 4 2 178 1 8 1 2
139 1 4 3 2 179 2 2 4 4
140 3 4 3 3 180 3 4 1 1
141 1 2 4 3 181 1 1 3 3
142 1 2 4 1 182 2 1 1 4
143 | 3,0 2 2 3 183 |3,4,0| 3 4 2
144 3 2 4 2 184 1 4 4 4
145 1 4 3 2 185 3 2 1 1
146 2 1 4 1 186 3 4,0 2 2
147 2 2 4 2 187 4 2 1 4
148 4 1 4 1 188 2 1 2 2
149 2 3 2 3 189 1 2 3 3
150 2 1 4 4 190 2 1 1 4
151 4 3 4 3 191 1 4 3 11,4,0
152 2 3 2 3 192 4 2 3 2
153 3 4 4 4 193 | 1,0 3 4 2
154 2 3 1 2 194 3 1 1 3
155 1 3 4 2 195 2 3 3 1
156 4 4 3 4 196 3 4 4 4
157 4 3 2 2 197 1 2 1,2,0 4
158 3 2 2 2 198 3 4 3 3
159 3 2 3 3 199 2 4 1 3
160 3 4 3 1 200 2 2 1 2
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